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General Abilityl
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Question Number : 1 Question Id : 2752285630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the wrong term in the following series:

SO, GK, BF, WA
Options :
1. ¥ SO
2. % GK
3. ®* BF
4. % WA

Question Number : 1 Question Id : 2752285630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fafeRaa g § TTad ug I1d $e:

SO, GK, BF, WA
Options :
1. ¥ SO
2. % GK
3. % BF
4. % WA

Question Number : 2 Question Id : 2752285631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the given words in the sequence in which they occur in the dictionary.

1. HACKLED
2. HACKER
3. HABITAT
4. HALOGEN
5. HALFWAY

Options :

1. % 1,2,4,5,3
2.%2,1,3,4,5
3.3,2,1,5,4
4. % 3,1,2,4,5

Question Number : 2 Question Id : 2752285631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U T Usal P ST HH H TafRUd R SE FAH I TeH H B B

1. HACKLED
2. HACKER




3. HABITAT
4. HALOGEN
5. HALFWAY

Options :

1. % 1,2,4,5,3
2.%2.1,3,4,5
3.3,2,1,5,4
4. % 3,1,2,4,5

Question Number : 3 Question Id : 2752285632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following series:

RPT, , ZXB, DBF, HFJ
Options :
1. % USY
2. ¥ VTX
3. % VSZ
4. % URP

Question Number : 3 Question Id : 2752285632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad e & Juwd ue I e

RPT, , ZXB, DBF, HFJ
Options :
1. % USY
2. ¥ VTX
3. % VSZ
4. % URP




Question Number : 4 Question Id : 2752285633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the wrong term in the following series:

CEZ, DGY, EIX, FKW, GNV
Options :

1. # CEZ

2. % DGY

3. ¥ FKW

4. ¥ GNV

Question Number : 4 Question Id : 2752285633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
CEZ, DGY, EIX, FKW, GNV

Options :

1. % CEZ

2. % DGY

3. % FKW

4. ¥ GNV

Question Number : 5 Question Id : 2752285634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. % Pigeon

2. % Sparrow
3. ¥ Ostrich



4. % Crow

Question Number : 5 Question Id : 2752285634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T e fawedl & 9, 1 T FfYd did 3 90 § | 810D, Th [deed 31 19 &1 ave el ¢ | 34 [dded &1 789 & Il 37 ¥ AT |
Options :

1. % dddR

2. % TR

3.

4. % Dl

Question Number : 6 Question Id : 2752285635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. ¥ ND:RB
2. % FN:JL
3. % PS:TQ
4. ¥ WH : ZE

Question Number : 6 Question Id : 2752285635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T U fadenl & 9, 1 T i3 dRi ¥ T8 § | gTallioh, T [ddhed o i &1 <RE -Tal 6| 3% fadhed &I Ia Hx ofl 30 J 3T ¢ |
Options :

1. #* ND:RB

2. ¥ FN:JL

3. % PS:TQ

4. WH : ZE




Question Number : 7 Question Id : 2752285636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. ¥ Horse : Stallion
2. % Spider : Web

3. # Lunatic : Asylum

4. % Hare : Burrow

Question Number : 7 Question Id : 2752285636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu e fyewent & §, & U RfEd a8 T g € | 3T, Ueh [Ashed 3/ ofiF &t aRe 718 8| S fached &1 7= &3 il 3170 ¥ 3@ B |
Options :

1. ¢ ST : §Ioy

2. % Uphal : old

3. # UNTA : UNTAATH]

4, % W:%ﬁ

Question Number : 8 Question Id : 2752285637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1. % PMS
2. ¥ UVE
3. % VSY
4. % KHN



Question Number : 8 Question Id : 2752285637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f&u T fawedtl § 9, i T (i a8ids 3 90 B 1 g1aiieh, U fadbed o ofiF &1 o8 7ol o | 39 fddhed &1 99 HX Sl 39 J (el 5|
Options :

1. ¥ PMS

2. ¥ UVE

3. % VSY

4. % KHN

Question Number : 9 Question Id : 2752285638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

Cricket : 11 :: Football : ?
Options :

1. * 14

2. % 10

3.% 12

4. ¥ 11

Question Number : 9 Question Id : 2752285638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 faded &1 79 & S R U ¥ I TSR T Taifdrd § o TR § g¥R1 S Ugd Ue § Yefid g
fohdbe : 11 ::H’TTSI}IIFT:?

Options :
1. * 14
2. %10
3. % 12



4.9 11

Question Number : 10 Question Id : 2752285639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

OVY : SZC :: FRW : ?
Options :
1. ¥ JVA
2. % HVY
3. % GUZ
4. % KVY

Question Number : 10 Question Id : 2752285639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fadhed BT 997 B S iR UG ¥ 34T UHR ¥ Yefdd g fo UR ¥ R UG Ugd Ug ¥ Hafed g

OVY : SZC :: FRW : ?
Options :
1. ¥ JVA
2. % HVY
3. % GUZ
4. % KVY

Question Number : 11 Question Id : 2752285640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the pair that is related on the same basis to the pair given in the question.

PDN : SAQ:: ?
Options :



1. % TPA : VNB
2. % KMC : MJE
3. ¥ SHB : VEE
4. % LSR : OQW

Question Number : 11 Question Id : 2752285640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I SIS BT T B Sl Uy H &) 7S Siet A 99H YR O J&fid B

PDN : SAQ::?
Options :

1. ¥ TPA : VNB
2. % KMC : MJE
3.4 SHB : VEE
4. % LSR : OQW

Question Number : 12 Question Id : 2752285641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the pair that is related on the same basis to the pair given in the question.

Steering : Car :: ?
Options :

1. % Wall : Clock

2. # Fan : Ceiling

3. % Furniture : Carpenter
4. ¥ Wheel : Cart

Question Number : 12 Question Id : 2752285641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



I SISl BT I B o Uy § &1 18 SIS  THH UoR I Iafdd g
T dR = 2

Options :

1. % fdaRr : gl

2. % Q1 8d

3. wuﬁh?aaé
4.-'/CI'%ZIT:TI'I@

Question Number : 13 Question Id : 2752285642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If BRAIN is coded as 4-20-3-11-16, then what is the code for CLERK?
Options :

1. % 3-12-5-18-11

2.9 5-14-7-20-13

3. ® 6-15-8-21-14

4, % 4-13-6-19-12

Question Number : 13 Question Id : 2752285642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g BRAIN ®1 4-20-3-11-16 & ¥ § HifSd a1 T 8, A CLERK & foTT IS 1 52
Options :

1. % 3-12-5-18-11

2. % 5-14-7-20-13

3. % 6-15-8-21-14

4, % 4-13-6-19-12

Question Number : 14 Question Id : 2752285643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



If MEAN =32, FLAKE = 50, ANIMAL = 72, then what is the code for SCENARIO?
Options :

1. ¥ 128

2. % 64

3.% 72

4. % 112

Question Number : 14 Question Id : 2752285643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If¢ MEAN = 32, FLAKE = 50, ANIMAL = 72, A SCENARIO & a0 18 &1 g2
Options :

1. ¥ 128

2. % 64

3.% 72

4. % 112

Question Number : 15 Question Id : 2752285644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If DRONE is coded as FUSSK, then what is the code for FLASH?
Options :

1. ¥ HODYM

2. % HPDYO

3. ¥ HOEXN

4. % HNCUJ

Question Number : 15 Question Id : 2752285644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ife DRONE &1 FUSSK & =0 # &ifSd fbar a1 g, df FLASH & oIt 1S & 82

Options :



1. ®* HODYM
2. ®* HPDYO
3. ¥ HOEXN
4. % HNCUJ

Question Number : 16 Question Id : 2752285645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language,

bi zi si mi means let's wait for her,
fi li zi means come wait here,

mi di bi ti means let's play with her,
what is the code for 'for'?

Options :
1. # bi
2. % zi
3.9 i

4, % mij

Question Number : 16 Question Id : 2752285645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T [fgd i W 4,

bi zi si mi P 3H Qf% let's wait for her,

fili zi DI 31’21:% come wait here,

mi di bi ti BT 31 § let's play with her,
'for' B ]%’I'Q CARK] %‘?

Options :

1. # bi

2. % z7i

3. ¥ si

4. % mi



Question Number : 17 Question Id : 2752285646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If A @ B means A is the father of B, A + B means A is the wife of B and A - B means A is the mother of B, then what doesP+Q @R - S
mean?

Options :

1. # P is the sister of S

2. ¥ P is the grandmother of S
3. % P is the wife of S

4. # P is the mother of S

Question Number : 17 Question Id : 2752285646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A @BHTIHIGA,BHIAUAE, A+BHTIHITA, BB UG AR A-BHI3 8, A, BHI AR, NP+ Q@R -S HT T 34 g2
Options :

1. % pSHITETg

2. ¥ P, S B AR &

3. % pSHIUA R

4. % pSHIATG

Question Number : 18 Question Id : 2752285647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Lalita is shorter than Gagan but taller than Prerna. Binita is taller than Gagan but shorter than Danish. Who is the shortest of all?
Options :

1. ¥ Prerna

2. # Danish

3. % Lalita

4. % Gagan

Question Number : 18 Question Id : 2752285647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

AT T & BIET § A1 IRUM A et B 1 fS=ie1 T T oiell § dAfoh I 9 31T 81 99 & T Biel S 82
Options :

1. ¢ UROT

2. % I

3. % qlerar

4, % T

Question Number : 19 Question Id : 2752285648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a queue, Manish is 5th from the left and Sachin is 7th from the right. Both of them interchange their positions and now Manish becomes 12th
from the left. How many people were there in the queue?

Options :
1. = 24
2.9 18
3. % 16
4. % 19

Question Number : 19 Question Id : 2752285648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T HAR §, A1 a8 3R § 53 3R I e § 78 RIA IR G| 1 7 30 R 1 IRER TG 3R 376 T-19 §18 3R ¥ 120 RIF W 31
1| AR ¥ foad o a2

Options :

1. % 24

2.¥ 18

3. % 16

4. % 19

Question Number : 20 Question Id : 2752285649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Manisha and Sanjana are good in Geography and Hindi. Akansha and Manisha are good in Hindi and Chemistry. Akansha, Preksha and Naman
are good in Chemistry and English. Naman and Akansha are good in Chemistry and Maths. Preksha and Sanjana are good in English and
Geography. Who among the following is good in Chemistry, English and Maths but not in Hindi?

Options :

1. % Manisha
2. % Preksha
3. % Naman

4. % Akansha

Question Number : 20 Question Id : 2752285649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 3R IO YT SiR it & i § | ST SR H-oT Rt iR Tma= fag & o § | SMTehiRm, el iR 70 Xama- A 8k
ST 7 3F B | THT 3R SHThTRN I I 3R o 7 3rd § 1 Dem 3R T 3ol 3R aiiiet 7 o ¥ | Raforfad o @ &9 =
famm, Srioft 3fiR TN H oreeT § wifehT fedt 7 el 82

Options :
1. % TN
2. % &l
3. ¥ JHA
4. % 3THIAM

General Ability2
Group Number : 2
Group Id : 275228194
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No

Break time : 0



Group Marks : 20
Is this Group for Examiner? : No

General Ability2

Section Id : 275228296
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 275228355
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 2752285650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question a statement is given, followed by two arguments, I and II. You have to consider the statements to be true even if it seems to be at
variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statement.

Statement: Should India support all the decisions and policies made by Pakistan.

Arguments:

L. Yes, as this is the only way to maintain peace among both the nations.

II. No, as India should have it's own opinion on the decisions and policies made by Pakistan as some may be correct and some may be incorrect.
Options :

1. # Only argument I is strong

2. % Only argument II is strong

3. # Either argument I or argument II is strong

4. % Neither argument I nor argument II is strong



Question Number : 21 Question Id : 2752285650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy o T HY fear T 8, o a1 gl ddb, 1 3R 11 fu U &1 3ueh! 39 HU &) I A1 8, YA 81 T8 ITHIIG: J1d a2 3 e v
gl 3MTgeh! I8 Fufa o1 ¢ fob ST TN el & § &4 1, afd B1s 81, 1 1AT U HUH BT 38R0 BT ¢ |

HYT: T HR BT UTp gRT by U gt ot 3ir fifarat o1 3w e anfgu|

db:

1. 1, i G ST & dld Qifd §1T @ BT Ig THAE dbl 6|

gr%ﬁ%a?ﬂ%umqﬁmiaomm a7 T 7T Fufal &k Syl R ot w0y &) 3 1 =Ry i oo 9el 8 hd & 3R O e 8
|

Options :

|. % BHad ddb | g9 §

2. ¢ HId db 11 JId §

3. % db 1T dw 11 99 &

4. % ITD [ R db 11 Il &

Question Number : 22 Question Id : 2752285651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question two statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to
be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement 1 : Some schools are colleges.
Statement 2 : Some colleges are universities.

Conclusion I : Some schools are universities.
Conclusion II : No university is school.

Options :

1. * Only conclusion I follows

2. * Only conclusion II follows

3. * Both conclusions I and II follows

4. « Either conclusion I or II follows



Question Number : 22 Question Id : 2752285651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy § & pY= feu U 8, for e a1 gl s [ 3R 11 fau U § 1 3mueh! 39 SUAT &) I AT 8, YA 81 T8 ITHIIG: J1d a2 3 e udid
11 3Mue) g Mg o § & feu e el A A o a, afe 18 8, A R U el & 4 srqERur v 2|

®YF 1: $3 faeTay Herfdaaa g
HYUF 2: $S Hglidaerd [ayfaemaa g1

forend 1. p2 faarey fayfaeraa g1
sy 11: P fayfaeme faemey 7€ 81

Options :

1. % Had (sHY | 38R0 HRT §

2. % Had BN 11 IR0 Hal §

3. % fHY 1 3R 11 ST SRRV R §
4.« T 1 7 S 11 SR HRdT §

Question Number : 23 Question Id : 2752285652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question one statement is given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to be
at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statement.

Statement : Aman is shortlisted for the interview process based on his application for the post of Investment Analyst at BCD Firm.

Conclusion I : Aman will be selected as the Investment Analyst at BCD Firm.
Conclusion II : Aman will not be selected as the Investment Analyst at BCD Firm.

Options :

1. * Only conclusion I follows

2. * Only conclusion II follows

3. ¢ Either conclusion I or II follows

4. % Neither conclusion I nor II follows



Question Number : 23 Question Id : 2752285652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy § T Sy fear mar 8, o a1 gl s [ 3R 11 feu U § 1 3imueh! 39 HUA &) I AT 8, YA 81 T8 ITHId: J1d a2 3 i
Tditd 811 3Tge! ag fufa o ] o f e sl & @ & a1, afe &13 81, Y 3T 7T &2 &1 3 aRu axar g |

HY: BCD T § a1 faxaives & Ug & 1T 3/ & 3fTded & YR TR AEThR Ufohal & o1y 3= &1 g1 T 6|

f5HY I: 39 &I BCD Bl # a1 fazaye® & & & g1 siem|
fSH T 11: 39 BT BCD BH # o fa=eived & U § =g g1 SIa |

Options :

1. # $Had [T5HY [ 3IERU Hdl §

2. % Had fHY 11 ST BT &

3. ¢ g1 sy [ a1 e 11 SgERU BT §

4. % 7 fpd 1 3R T € Fsh 11 SR Fal §

Question Number : 24 Question Id : 2752285653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question one statement is given, followed by two reasons, I and II. You have to consider the statements to be true even if it seems to be at
variance from commonly known facts. You have to decide which of the given reasons, if any, follows from the given statement.

Statement : The prices of food grains in the last quarter have increased substantially.

Reason I : There was a shortage of supply because of poor rainfall during the last quarter.
Reason II : Farmers have become greedy and they want more money.

Options :

1. ¥ Only reason I follows

2. % Only reason II follows

3. # Both conclusions I and II follows

4. % Neither conclusion I nor II follows

Question Number : 24 Question Id : 2752285653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Uy H U Y fear man 8, forges 91 S SR, 1 3R 11 AT MU B 1 3ueh! 39 By &l I AT §, HA &1 I8 ITHRIG: J1d a2 3 fid
Tdid 811 3! T fAofa & R o fau e ool ¥ 19 1, afe #1881, A fou 71U = 1 SIgRu e 8|

HY: el faame) & T &1 Sivdal § Sl gfg 88 8

SR I: 3y fATE & SR S8 auf & HRT 3Mgfd J Ht off|
BRI 11: forgT arereh 81 U 8 3R 9 31fde 0 T8 5|

Options :

1. ¥ Had HRUT [ TRV BT §

2. % HAd HRUT 1 3IERV] HT §

3. % [ 3R I G F5hY 3IERUI $Hd §
4. % FTysme 1 3R T & 11 SRV AT §

Question Number : 25 Question Id : 2752285654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which two numbers should be interchanged to make the below equation mathematically correct?

62+ 6 x 105+ 3 -25=247
Options :

1. # 62,25

2.9 6,105

3. % 6,25

4. % 62,6

Question Number : 25 Question Id : 2752285654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i fau T TR &1 et 9 & fore foe &l T &) Titrdig 0 ¥ IRER JeHT a1ige?

62+ 6 x 105 +3-25=247
Options :




1. ® 62,25
2.9¥6,105
3. % 6,25
4. % 62,6

Question Number : 26 Question Id : 2752285655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 1688 = 36; 17$3 = 30; 22%$4 = 39; then find the value of 3286 = ?
Options :

1. ®* 76

2. % 38

3.¥ 57

4. % 54

Question Number : 26 Question Id : 2752285655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 16$8 = 36; 1783 = 30; 22$4 = 39; Tl 3286 = ? BT HIA J1d B
Options :

1. ® 76

2. % 38

3.¥57

4. % 54

Question Number : 27 Question Id : 2752285656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1. ¥ 14-182



2. % 22-506
3. % 18-342
4. % 16-272

Question Number : 27 Question Id : 2752285656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T T fawedl & 9, 1 T FfYd dRid 3 90 § | 8Tal®, Th [ded o1 i &1 dve ol ¢ | 34 [ddHed &1 789 & il 37 9 AT |
Options :

1. ¥ 14-182

2. % 22-506

3. % 18-342

4. % 16-272

Question Number : 28 Question Id : 2752285657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the wrong number in the following number series:

0.0384, 0.192, 0.96, 4.6, 24
Options :

1. % 0.0384

2. % 0.192

3. % 0.96

4. % 4.6

Question Number : 28 Question Id : 2752285657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad ke gae O TTerd T J1d &y

0.0384, 0.192, 0.96, 4.6, 24
Options :




1. # 0.0384
2. % 0.192
3. % 0.96
4.9 4.6

Question Number : 29 Question Id : 2752285658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The given Venn diagram shows the number of children who love Pineapple, Apple and Mango. How many of these children only like any one
fruit?

Pineapple Mango

A
(S

Apple

Options :
1. % 37
2. % 28
3.9 53
4. % 25

Question Number : 29 Question Id : 2752285658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau T 37 3mg H 39 T ) T SR 7S § o8 3T, ¥ 3R 310 TG 8 | 399 ¥ fha 9= Hadl [Pl U B ol UG Bhd 82




&

Options :
1. % 37
2. % 28
3.9 53
4. % 25

Question Number : 30 Question Id : 2752285659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following figure, triangle represents animals, rectangle represents four legged, circle represents herbivorous. Which area represents four
legged animals who are herbivorous?

Options :



1.*D
2.%G
3.%F
4 ¥ E

Question Number : 30 Question Id : 2752285659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafifaa srefa §, Bys SHR) &1 ufaffiia S3ar 8, 3mad R TR aral &1 ufafRfia B 2, I Jurvelt &1 afaffia sar g | S A
&7 IR TR aral &1 ufafAfia wear g o qurvel g2

Options :
1.% D
2.% G
3.%F
4. ¥ E

Question Number : 31 Question Id : 2752285660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagrams best represents the relationship between reptile, snake and rat ?
Options :



1. %

000
Q0

4. %

Question Number : 31 Question Id : 2752285660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafeiad o ¥ &9 91 9 3R INY, W4 3R I8 & o1 & Ay DI T 33T Sl 82

Options :

1. %



000
BO@

4. %

Question Number : 32 Question Id : 2752285661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The given Venn diagram shows the number of students in a class who likes 5 star, Perk and Munch. There are 100 students in the class. How
many of these students do not like any of them?

Perk Munch

A
a7

5 - Star

Options :
1.¥ 11
2. %10



3.%5
4. % 12

Question Number : 32 Question Id : 2752285661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faU U 377 3G H U e H 39 STHI D T B <1 A1 8 I 5 R, Uh 3R 7 TS Bhd o | BT H 100 B &1 370 A fbaq
B B 38 ¥ IS ot de T8 29

b qq

A
87a

S-ER

Options :
1.¥ 11
2. %10
3.%5
4, % 12

Question Number : 33 Question Id : 2752285662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing figure in the following matrix.



17 | 19 | 23

24 | 36 | 48

25 ? 39

Options :
1. % 31
2. % 37
3. % 55
4. % 17

Question Number : 33 Question Id : 2752285662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad Afcew § qu siiweT I1d H|

17 | 19 | 23
24 | 36 | 48
25 ? 39

Options :

1. ¥ 31

2. % 37

3. %55



4. % 17

Question Number : 34 Question Id : 2752285663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third image on the same basis as the second image is related to the first image.

X

Options :

°e o
* o
e o
oo
-~

2.¥

%
®
&




Question Number : 34 Question Id : 2752285663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I faed o7 70 B o IR Bfd T I THR U T&fd g o ThR I gO-l Bid Uge id 9 Yafed g |

Options :

2.¥



Question Number : 35 Question Id : 2752285664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figure completes the series of the question figure?

< O | ©
Options :
O
1. %




<O
7N
NZ
2. %
%
N
N
3.¢¥
%
D
X
4, %

Question Number : 35 Question Id : 2752285664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfRd & 9 & T ST AHA UY 3BT B 7T B IR Rl 62

C 1O | lLe | ¢ L
ol | €

Options :



A
N,

()
NiZ%

3.¢

—
N2y

Question Number : 36 Question Id : 2752285665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :



Question Number : 36 Question Id : 2752285665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
feu U faeul & 9, A4 v i aiis T 90 &1 BT, U f[ddhed 3 i Pl dig 7ol ¢ | 39 f[Ahed BT I B Sl 3T T AT 5|

Options :




Question Number : 37 Question Id : 2752285666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following cube in the answer figure can be made based on the unfolded cube in the question figure?



Options :

Question Number : 37 Question Id : 2752285666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR AHfA & FEfied & T HF 9199 Uy P T G T7 & YR WR §711 o Gl 82




Options :

Question Number : 38 Question Id : 2752285667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figure patterns can be combined to make the question figure?






Question Number : 38 Question Id : 2752285667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafiyd & @ &1 T SR SH1d Ued &I U3 HId a9 & o ST S ahd 62

® @
e|®
®
[ ]
Options :

N




]
2.
®
&
3. %
L]
#
4. %

Question Number : 39 Question Id : 2752285668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?




Options :

O
1. ¢
O
2. %
)
3. %
O
4. %

Question Number : 39 Question Id : 2752285668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g T U DI XM MN TR QT 74T §, Il DI 1 STR S & 718 3N BT Al gUUT ufafed g2



M N
Options :
O
1. v
li
2. % .
O
3. ®
@)




Question Number : 40 Question Id : 2752285669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many circles are there in the given question figure?

Options :
1. % 11
2.% 13
3. % 15
4. % 19

Question Number : 40 Question Id : 2752285669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3u U Uy anpfd # fhd g €2



Options :
1. % 11

2.9% 13
3. % 15
4. % 19

General Awarenessl1
Group Number : 3
Group Id : 275228195
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

General Awareness1
Section Id : 275228297
Section Number : 1



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 275228356
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 2752285670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Shalimar Garden of Jammu and Kashmir was built by which of the following Mughal emperor?
Options :

1. ® Aurangzeb

2. % Jahangir

3. % Shah Jahan

4. % Babur

Question Number : 41 Question Id : 2752285670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST 3R HRER &1 AMCTHAR T FafaRad & ¥ fod 9ra I91e gRT1 §911 747 U1?
Options :

1. % R

2. ¢ IR

3. % g STel

4, % dlesR}

Question Number : 42 Question Id : 2752285671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The Marfa music is associated with which of the following cities?
Options :

1. * Nagpur

2. % Hyderabad

3. % Kolkata

4. % Bangalore

Question Number : 42 Question Id : 2752285671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR®T Gifid Fafifaa # 3 frg TR A Jer12?
Options :

1. % AR

2. ¥ §EXETG

3. % PIIbIAl

4. % STAR

Question Number : 43 Question Id : 2752285672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Karma is a harvest festival which is held on the 11th day of a Purnima of the Hindu month of
Options :

1. % Chaith

2. % Kartik

3. % Phagun

4. ¥ Bhado

Question Number : 43 Question Id : 2752285672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

$Hl U Bhod IR g ol fgg A & &1 g & 119 g Smaiford faar S 5|




Options :
1. % 93
2. % FHlid
3. % B
4. ¥ el

Question Number : 44 Question Id : 2752285673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Dhol Cholom, a drum dance, is one of the dances performed during which of the following festivals in Manipur?
Options :

1. ¥ Holi

2. % Diwali

3. % Navratri

4. % Ganesh Chaturthi

Question Number : 44 Question Id : 2752285673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 7 9, I diaH, T oid o, HoMgR # Fgfoied & 3 feg e & SR forar S g2
Options :

1. ¢ gleil

2. % faardl

3. % IR

4, % 7Oy It

Question Number : 45 Question Id : 2752285674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which among the following banks is not a public sector bank?
Options :



1. # United Bank of India
2. # (Central Bank of India
3. % Lakshmi Vilas Bank
4. # Syndicate Bank

Question Number : 45 Question Id : 2752285674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafafad & @ o 91 9% rdoid 856 S& T8l 82
Options :

1. % gASCS dF 3 sfean

2. % Yod o 3T fSa

3. ¢ e fae i

4. % Rifsdhe db

Question Number : 46 Question Id : 2752285675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following components is added to the Gross Domestic Product to arrive at the Net National Product?
Options :

1. ¥ Income from Abroad

2. % Depreciation

3. ¥ Tax payments

4. # Transfer payments

Question Number : 46 Question Id : 2752285675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& TP IAIG R Ugaq & fore Fafefad # 3 fod ges &1 g o Ide # Sigl oirdl 82
Options :

1. ¢ fae=r 4 amy




2. ¥ JeUgN
3. % B YA
4, % 30T T

Question Number : 47 Question Id : 2752285676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was the Small Industries Development Bank of India established?
Options :

1. % 1995

2. % 1984

3. % 1998

4.+ 1990

Question Number : 47 Question Id : 2752285676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HRATT TY SN OB o &1 RIMTH Hd D1 T3 2
Options :

1. % 1995

2. % 1984

3. % 1998

4. % 1990

Question Number : 48 Question Id : 2752285677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As announced in the Budget 2020, basic customs duty on imports of news print and light-weight coated paper has been reduced from 10 percent
to

Options :
1. # 6 percent
2. % 5 percent



3. % 4 percent

4. # 7 percent

Question Number : 48 Question Id : 2752285677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gaezozoﬁaﬁw%%w,qaﬁz@vsﬁmaﬁ?ﬁaﬂm%mm{mﬂmw1ouﬁmﬁw R fear
I

Options :

1. % 6 Yid=rd

2. v 5 Gfc=Id

3. % 4 yfc=rd

4. % 7Yfd=rd

Question Number : 49 Question Id : 2752285678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As announced in the Budget 2020, Jan Aushadhi Kendra Scheme has been introduced to offer 2000 medicines and 300 surgicals in all districts by
the year

Options :
1. ¥ 2024
2. % 2022
3. % 2023
4. % 2025

Question Number : 49 Question Id : 2752285678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oTC 2020 H TIYUN P IR, a9 d quft forat & 2000 garaft SR 300 AeAfAfHET Bt UG HA & AT o SN g TS
= DIS B

Options :

1. ¥ 2024



2. % 2022
3. % 2023
4. % 2025

Question Number : 50 Question Id : 2752285679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is not an exhaustible resource?
Options :

1. # Natural gas

2. % Petroleum

3. ¥ Biogas

4. # Coal

Question Number : 50 Question Id : 2752285679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofifed & 9 &9 91 Ue ea=ia S a1 82
Options :

1. ® Ui 19

2. % fERY

3. ¥ SR

4. % HIIAT

Question Number : 51 Question Id : 2752285680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is an example of double class 1 lever?
Options :

1. ¥ Scissors

2. % Wheelbarrow



3. #* Broom

4. % Nut cracker

Question Number : 51 Question Id : 2752285680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frofad & 3 31 g Aol | IIds BT IR0 3?2
Options :

1. ¢ &l

2. % UDhUedl oal

3. % 31T§

4. % TRAAT

Question Number : 52 Question Id : 2752285681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ferns belongs to which of the following divisions of the plant kingdom?
Options :

1. # Gymnosperms

2. % Angiosperms

3. # Thallophyta

4. ¥ Pteridophyta

Question Number : 52 Question Id : 2752285681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U+ GIRUfA-SRTd o FafaRad o ¥ fopd faumT § deiferd g2
Options :

1. % 3FTgdsioil

2. % 3{Igasitoll

3. % YeBIRC




4. ¥ RISBTZET

Question Number : 53 Question Id : 2752285682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following laws states that the current passing through a conductor between two points is directly proportional to the potential
difference across the two points provided the physical state and temperature etc. of the conductor does not change?

Options :

1. ¥ Ohm's Law

2. % Avogadro's Law
3. # Coulomb’s Law

4. % Pascal’s Law

Question Number : 53 Question Id : 2752285682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafiad fFoml 5 3 19 91 98 wear § & Targs & o RRI & o9 T ToRA arat URT, fordt Yaes & BRI & dtd S0 faqaraR 399
TR 4RT & FHUTE ST § IS FaTed P Hifad e 3R a9 3nfe fad 3t s

Options :

1. ¢ 3 &1 fad

2. % 3[ANTIg] 1 FgH

3. % Al & 9

4. % URpd Bl AgH

Question Number : 54 Question Id : 2752285683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Swachh Vidyalaya is the national campaign driving
Options :

1. * Ek kadam Swachh Vidyalaya ki aur

2. % Clean India: Clean Schools

3. # Schools and Cleanliness



4. % (Clean Schools - The Future of India

Question Number : 54 Question Id : 2752285683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

W fagTerd AP S g ol @ 3R AT B
Options :

1. % TP Dl W [Gead B 3R

2. ¥ W@ YRA: W faerme

3. % faerery SR Wwsdl

4. % W ATy - YRA &1 Hids

Question Number : 55 Question Id : 2752285684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Nepal shares it's borders with which of the following Indian states?
Options :

1. ¥ West Bengal

2. % Mizoram

3. # Rajasthan

4. # Punjab

Question Number : 55 Question Id : 2752285684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol yRdtg Isal 8§ 9 fasdas 1y Tl S{o-t ST F1ei Bl 672
Options :

1. ¢ TfEH ST

2. % oGy

3. % SR

4. % U9




Question Number : 56 Question Id : 2752285685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Indian Ocean is bounded by in the east.
Options :

1. # Antarctica

2. ¥ Australia

3. ® Africa

4. % Iran

Question Number : 56 Question Id : 2752285685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fgg MeNFR @ | I RRTgSM gl
Options :

1. % e

2. ¢ 3fieferan

3. % 3pichT

4. % A

Question Number : 57 Question Id : 2752285686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following rivers is also known as 'Gorakhpur's Sorrow'?
Options :

1. % West Jhelum

2. % West Gandak

3. ¥ West Rapti

4. ® West Kosi

Question Number : 57 Question Id : 2752285686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafeiad afet o 9 ford MR &1 AR & A F +ft S 7 82
Options :

1. % Uy g

2. % UigH TSh

3. ¢ UigH it

4. % UigH ST

Question Number : 58 Question Id : 2752285687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Eravimala, which is the highest peak located in the Anamalai Hills in the Western Ghats, is located in which of the following states?
Options :

1. ¥ Kerala

2. % Karnataka

3. ¥ Tamil Nadu

4. % Maharashtra

Question Number : 58 Question Id : 2752285687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WRIGHTT, S i) °re & SrEmaTs o ugifsdl # fRud a9 St 9ict g, Raferfaa & 3 feg Isa A fRua g2
Options :

1. v B

2. % Hlch

3. % A A1g

4. % TERIY

Question Number : 59 Question Id : 2752285688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Who among the following was the founder of the Kalachuri Dynasty?
Options :

1. # Gangeyadeva

2. % Kokalla I

3. % Kokalla I

4. % Ashoka

Question Number : 59 Question Id : 2752285688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fRfIfed § § 19 SagR I BT GRS UT?
Options :

1. % e

2. % DlDhed 11

3. ¥ Blbel |

4. % 3

Question Number : 60 Question Id : 2752285689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was the Sadharan Brahmo Samaj of Calcutta founded?
Options :

1. % 1866

2. % 1884

3.9 1878

4, % 1892

Question Number : 60 Question Id : 2752285689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HADTT BT ATERT ST JHTST D1 RITTAT B gg A2




Options :

1. ® 1866
2. % 1884
3.9 1878
4. % 1892
General Awareness2
Group Number : 4
Group Id : 275228196
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Awareness2
Section Id : 275228298
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 275228357

Question Shuffling Allowed : Yes



Question Number : 61 Question Id : 2752285690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When did the Khilafat movement start?
Options :

1. % 1928

2. % 1892

3.4 1919

4, % 1935

Question Number : 61 Question Id : 2752285690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT d SaIad $d Y& g3l UT?
Options :

1. % 1928

2. % 1892

3.4 1919

4, % 1935

Question Number : 62 Question Id : 2752285691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following movements was also known as the August Movement?
Options :

1. # Khilafat Movement

2. % Quit India Movement

3. # Simon Go Back Movement

4. # Dandi March

Question Number : 62 Question Id : 2752285691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fafeiad sl 7 9 fod 3 i & 19 I Wt ST STt U
Options :

1. % Rgarhd <l

2. ¢ YRd DTSl 3Tl

3. % U Ay S 3T

4. % g U

Question Number : 63 Question Id : 2752285692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When was the Akali movement started?
Options :

1. % 1930

2. % 1925

3.9 1920

4. % 1935

Question Number : 63 Question Id : 2752285692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
DT MG B YR [T T T2
Options :
1. % 1930
2. % 1925
3.9 1920
4. % 1935

Question Number : 64 Question Id : 2752285693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which among the following awards are famously known as 'Oscars'?



Options :

1. ¥ Academy Awards

2. % Grammy Awards

3. ¥ Emmy Awards

4. % Golden Globe Awards

Question Number : 64 Question Id : 2752285693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR REeRI & I & 13 & 91 J UG 72
Options :

1. ¢ 3fDIGH RWPR

2. % I RWBR

3. % T RWR

4. % TS TAid QRIBR

Question Number : 65 Question Id : 2752285694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was known as the "Young Turk"?
Options :

1. % Jawaharlal Nehru

2. % Ashutosh Mukherji

3. ¥ Chandra Shekhar

4. % Bal Gangadhar Tilak

Question Number : 65 Question Id : 2752285694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferied o 9 foodt gar g o =1 9 ST SITd 412

Options :




1. % Jaedd Jg%
2. % STy TSl
3. ¢ TSR

4. % ST TR foeies

Question Number : 66 Question Id : 2752285695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following books is not written by Chetan Bhagat?
Options :

1. # Revolution 2020

2. # One Indian Girl

3. ¥ What Young India Wants

4. % Sons and Lovers

Question Number : 66 Question Id : 2752285695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FrafaRad & 9 oF W frdre 9= id = 78l fordt 82

Options :

1. % RAeg=H 2020

2. % g 3fSTA T

3. % ogIc g Sfear dicy
4. ¥ Y TS dad

Question Number : 67 Question Id : 2752285696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following is the Governor of the Reserve Bank of India as of April 2020?
Options :

1. # Urjit Patel



2. ¥ Shaktikanta Das
3. % Raghuram Rajan

4. % Nirmala Sitharaman

Question Number : 67 Question Id : 2752285696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiRad & @ e 3ilie 2020 db YR Rold S & TaR 82
Options :

1. % IRfTueqa

2. ¢ iadedid &

3. % TR oA

4. % e FdR™A

Question Number : 68 Question Id : 2752285697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following institutions launched the SAFE scheme in March 2020?
Options :

1. ¥ SIDBI

2. % RBI

3. ¥ NABARD

4. % SEBI

Question Number : 68 Question Id : 2752285697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferiad Sl & § foem A1 2020 H SAFE W10 T B1?
Options :

1. ¢ &4l (SIDBI)

2. % RBI



3. ® FTETS (NABARD)
4. % {4l (SEBI)

Question Number : 69 Question Id : 2752285698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is a low-cost energy efficient ventilator made by the Rail Coach Factory, Kapurthala?
Options :

1. # Zindagi

2. % Praan

3. # Life

4. ¥ Jeevan

Question Number : 69 Question Id : 2752285698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfRad o 9 &F 9130 Sid hag!, HYRIAT §RT I8 T8 HH ARG dTeit 3ol HRIA deaeR g2
Options :

1. % foief

2. % Y07

3. % A%

4. ¥ Sitaq

Question Number : 70 Question Id : 2752285699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following Governments has launched “Mo Prativa” programme in collaboration with UNICEF (United Nations Children’s
Funds)?

Options :

1. # Karnataka
2. % West Bengal
3. % QOdisha



4. % Maharashtra

Question Number : 70 Question Id : 2752285699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FEfRed WReR! & ¥ fem gFiw (Hgad Y 1A SIV) & GganT J "H Ufiar HRisH & 61 52
Options :

1. % Hlcd

2. % OfYH §I

3. ¢ 3ifg=m

4. ® HgRIY

Question Number : 71 Question Id : 2752285700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Apart from India, which of the following countries is unlikely to be hit by the global recession as analysed by the United Nations in March 20207
Options :

1. ¥ China

2. % United States

3. # United Kingdom

4. % France

Question Number : 71 Question Id : 2752285700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gﬁfzozoﬁﬂ'gcm JTF G fohT 71T FAReANor & SOR, HRd 3 Srarar, Fafafed o 9 & a1 <=1 e Tl &t 9ue § 3 &t Hyra Tgt
?

Options :

1. ¥ 9

2. % ggad I

3. % gARcE fhren




4, % BiIg

Question Number : 72 Question Id : 2752285701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The quorum for the meeting of the Rajya Sabha is fixed at of the total members.
Options :

1. ¥ one-tenth

2. % one-seventh

3. ® one-sixth

4. % one-ninth

Question Number : 72 Question Id : 2752285701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S GHT &1 96 & [ HRE $d Il & IR Fyffed gt 31
Options :

1. ¥ Th-gHd HIT

2. % Toh-Hdd HIT

3. % TDH-Bd YT

4. % TH-AId HAT

Question Number : 73 Question Id : 2752285702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the chairman of the States Committee of the Constituent Assembly?
Options :

1. ¥ Jawaharlal Nehru

2. % Rajendra Prasad

3. % B.R. Ambedkar

4. % Gopinath Bardoloi



Question Number : 73 Question Id : 2752285702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
G U1 Bt 7o AT & Semg dI A2
Options :

1. ¢ SdTERATd A8

2. % ol UG

3. % ol 3R, ISHT

4. % MY SRS

Question Number : 74 Question Id : 2752285703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following Amendment Bills is known as the ‘Women Reservation Bill” ?
Options :

1. #* 102

2.4 108

3. %105

4. % 110

Question Number : 74 Question Id : 2752285703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafafea I fAdae! & @ fod afgar smRevr fadge & &0 8 ST oi1dT 82
Options :

1. % 102

2.9 108

3. % 105

4. % 110




Question Number : 75 Question Id : 2752285704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following Parts of the Indian Constitution is related with the special provisions relating to certain classes?
Options :

1. # XIII

2. % XV

3. % XIV

4, ¥ XVI

Question Number : 75 Question Id : 2752285704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YReTg iy & Fafafad ymt # § & a1 At oot 3 Seftia faRy graut 3 g8
Options :

1. % XIII

2. % XV

3. % XIV

4. % XVI

Question Number : 76 Question Id : 2752285705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following Indian Football players has been chosen for the FIFA Campaign to spread awareness for COVID 19?
Options :

1. * Harmanpreet Singh

2. % Sunil Chhetri

3. ¥ Manpreet Singh

4. % Gurinder Singh

Question Number : 76 Question Id : 2752285705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafafad URda Gesia Raanfsal § 9 i Hifas-19 & fole siewdT e o fore Wi it & fore g mang?
Options :

1. % gxAUId Rig

2. ¢ Al oAl

3. % OYId R

4. % IR g

Question Number : 77 Question Id : 2752285706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The 2021 World Games that was scheduled to be held in Birmingham, Alabama is postponed to
Options :

1. % 2025

2. % 2024

3.9 2022

4. % 2023

Question Number : 77 Question Id : 2752285706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gftfem, e 8 819 ardd 2021 & fay @4, & fore RiffTa o fear 31
Options :

1. % 2025

2. % 2024

3.9 2022

4. % 2023

Question Number : 78 Question Id : 2752285707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which among the following teams won the first edition of the ICC Women's T20 World Cup in 2009?



Options :
1. ¥ England
2. # Australia
3. % India

4, % New Zealand

Question Number : 78 Question Id : 2752285707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad & 9 foa S0 9 2009 T 1cC AR T20 fa% HU BT gl TRHRUT Star
Options :

1. ¢ QU8

2. % JfiReferan

3. % HRd

4. % IAS

Question Number : 79 Question Id : 2752285708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Under-17 Women’s World Cup which was scheduled to be played in 2020, has been postponed by the Federation
Internationale de Football Association (FIFA) or the International Federation of Association Football .
Options :

1. # December
2. # September
3. % October

4. ¥ November

Question Number : 79 Question Id : 2752285708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3SR -17 Afgan fay »u o 2020 T AT ST AT, HERM SR S Pedld THIRIIRH (1) AT SR e
3Ttk TR Besia 3 Rifid #r R R



Options :

1. % fddsR
2. % AR
3. % AR
4. ¢ AR

Question Number : 80 Question Id : 2752285709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which among the following is the first country that has won 5 men's and 6 women's world cup titles in cricket till April 2020?

Options :

1. % England

2. ¥ Australia

3. % India

4. ¥ New Zealand

Question Number : 80 Question Id : 2752285709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfeiRyd o § 19 91 Ugen R § o $iid 2020 & fohdhe & 5 T3W 3R 6 ARGAT fay HU Rydra ofid 82
Options :

1. % 308

2. ¢ 3fieferan

3. % HRd

4. % IEAS

Arithmetic Abilityl

Group Number : 5
Group Id : 275228197

Group Maximum Duration : 0



Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Arithmetic Abilityl

Section Id : 275228299
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 275228358
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 2752285710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the largest 5-digits number divisible by 8, 12 and 22?
Options :

1. % 99999

2. % 99978

3. % 99888

4. % 99792

Question Number : 81 Question Id : 2752285710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

I 981 5-3f 1 T B A g il 8, 12 3R 22 F faHsT 82
Options :

1. * 99999

2. % 99978

3. % 99888

4. % 99792

Question Number : 82 Question Id : 2752285711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The numerator of a rational number is 5 less than its denominator. If the numerator is increased by 5 and denominator is decreased by 8, then it
becomes 3. What was the rational number?

Options :
1. ¥ 7/12
2. % 9/14
3. % 6/11
4. % 8/13

Question Number : 82 Question Id : 2752285711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Eﬂ@ﬁ&ﬁuﬁww&mmaﬁsm%luﬁmﬁsﬁmw%eﬁ?aﬁgﬁww%ﬁamﬁw%qﬁﬁua’ww
)

Options :

1. 7/12

2. % 9/14

3. % 6/11

4. % §/13

Question Number : 83 Question Id : 2752285712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In a three digit number, the digit at one's place is thrice the digit at ten's place and double the digit at hundred's place. What is the number, if the
sum of the digits is 11?

Options :
1. % 163
2. % 231
3. % 462
4.9 326

Question Number : 83 Question Id : 2752285712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ST AT H, SHTS P VI IR BT 3/, GgT8 & R R & 3T I dH AT § 3R YH ST & WM W HTaN 5| Al Bl HTaANT 11 8,
e T Y

Options :

1. ® 163

2. % 231

3. % 462

4. ¥ 326

Question Number : 84 Question Id : 2752285713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the highest common factor of the fractions (4/3), (14/27) and (16/9)?
Options :

1. * 4/9

2.9 2/27

3. % 16/27

4. % 2/9

Question Number : 84 Question Id : 2752285713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

U (4/3), (14/27) 3R (16/9) HT HeTH THUAPH T 32
Options :

1. ® 4/9

2.9 2/27

3. % 16/27

4. % 2/9

Question Number : 85 Question Id : 2752285714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average of 6 terms is 35 and the sixth term is half of the remaining terms. What will be the sixth term?
Options :

1. % 85

2. % 105

3.¥70

4. % 60

Question Number : 85 Question Id : 2752285714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

6 UG T 3Md 35 & 3R ©31 UG Y Ul &1 3M1U1 g | ©3T UG T R
Options :

1. % 85

2. % 105

3.970

4. % 60

Question Number : 86 Question Id : 2752285715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The marked price of the washing machine is Rs. 2000 more than the money Arpit has. The shopkeeper offers two successive discounts of 8



percent and 5 percent respectively. Now Arpit still has Rs. 3040 left after buying the washing machine. What is the marked price of the washing
machine?

Options :

1. % Rs. 38000
2. % Rs. 40000
3. # Rs. 50000
4. # Rs. 48000

Question Number : 86 Question Id : 2752285715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R A= &1 fafed ge, iftfd & oy fora 09 § S¥™ 2000 $UT TGI8 | gHHGR HHRT: § U= 3R 5 Ufa=id &1 gl shil® ge g
Rl ¢ | IR 7RI WRien & are i siftia & ur et oft 3040 ST & 51 QMR A=A &1 ffgd 9o R 62

Options :

1. % 38000 >UU
2. % 40000 >UU
3. % 50000 ®UU¢
4. % 48000 277

Question Number : 87 Question Id : 2752285716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A merchant agrees to give a discount of 10 percent on cost price of wheat but gives away only 800 gm for every 1 Kg weight of wheat. What is
his profit percent?

Options :

1. ¥ 12.5 percent
2. % 10 percent

3. % 11.5 percent
4. % 8.5 percent

Question Number : 87 Question Id : 2752285716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

wmggﬁamung 10 TI=Id &1 Be & & Y T8Hd ©, Al 118 & D 1 kg GO & foTU Had 800 gm ol § | STHT ATH
yfcr=rd 82

Options :

1. ¢ 12.5 Ufa=rd
2. % 10 gfard

3. % 11.5Ufaerd
4. % g5 yfawrd

Question Number : 88 Question Id : 2752285717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A student has to secure 45 percent marks to pass. He gets 294 marks and fails by 66 marks. What are the maximum marks?
Options :

1. % 1000

2. %900

3. ¥ 800

4. % 600

Question Number : 88 Question Id : 2752285717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T BT DI STl 514 b [T 45 YCTRIA 3ich T B BT | I 294 3 T 3R 66 3T T fawed 81 T SHfdad 3fch 1 62
Options :

1. # 1000

2. %900

3. ¥ 800

4. % 600

Question Number : 89 Question Id : 2752285718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



180 percent of a number is 972. What will be 240 percent of that number?
Options :

1. * 1386

2. ¥ 1296

3. % 540

4. % 1080

Question Number : 89 Question Id : 2752285718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS T BT 180 UTARIT 972 § | S THAT BT 240 U= &1 G2
Options :

1. * 1386

2.9 1296

3. % 540

4. % 1080

Question Number : 90 Question Id : 2752285719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The difference between two numbers is 1500. 6 percent of a number is 8 percent of the other number. What is the ratio between the two numbers?
Options :

1. % 6:1
2.% 7:4
3.%5:3
4.9 4:3

Question Number : 90 Question Id : 2752285719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
& =TSt & & &1 SfaR 1500 § 1 U ST BT 6 Wi=Td 3= WA HT 8 UTA=Id & | &l Seanaft o oia $T 30T a1 82

Options :



1.#6:1
2.% 7:4
3.%5:3
4.9 4:3

Question Number : 91 Question Id : 2752285720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The current birth rate per thousand per year is 35, whereas corresponding death rate is 13 per thousand per year. What is the net growth rate in
terms of population increase per year in percent?

Options :

1. % 2 percent
2. % 2.2 percent
3. % 5 percent
4. ¥ 4.3 percent

Question Number : 91 Question Id : 2752285720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a#qﬁgqﬁraﬁqﬁrmwaws g, Sdfdh dfgoad T & Ui ay Ufd g9k 13 | Uf=d & Ufd 98 s-eied 3ig & ded & Y& afs
X Hg?

Options :

Question Number : 92 Question Id : 2752285721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a pen is sold at 10 percent gain instead of 10 percent loss, then the seller gets Rs. 2 more. What is the cost price of that pen?
Options :



1. * Rs. 15
2. % Rs. 12
3. %* Rs. 5

4. ¥ Rs. 10

Question Number : 92 Question Id : 2752285721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g Th Had P1 10 UFA=Id BT & SO 10 UTIRI TTH TR =01 ST1dT &, o fashdl &1 2 $U 31fee fed 81 39 Had &t aFTd Jed 1 82
Options :

1. % 15%4U

2. % 12%4U

3. % 594U

4.+ 10>49U0

Question Number : 93 Question Id : 2752285722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Kabir and Anushka sells some articles for Rs. 12000 each. Kabir calculates his profit percent on his cost price and Anushka calculates her profit
percent wrongly on selling price. What is the difference in their profits if both claim to have a profit of 50 percent?

Options :

1. # Rs. 4000
2. % Rs. 6000
3. ¥ Rs. 2000
4. % Rs. 1000

Question Number : 93 Question Id : 2752285722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HAR 3R D] S X3 B! TAH 12000 TUT H o9 & | HER 307 ATH YTA=Id P ITUHT S0 TN Hed TR BT 5 3R 35T fasha
e TR {0 AT UF=Td &1 TTed TT0MHT Rt 8 | afe S 50 UTIRId & AT &1 &1aT HRd & al S ATyl & T 3R 82

Options :




1. * 4000 >UU¢
2. % 6000 %UUq
3. % 2000 %4UUQ
4. % 1000 >UU¢

Question Number : 94 Question Id : 2752285723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ronit sells an article at a discount of 30 percent and gets a profit of 40 percent on that article. What is the mark up over the cost price of the
article?

Options :

1. % 50 percent
2. % 100 percent
3. % 200 percent
4. % 300 percent

Question Number : 94 Question Id : 2752285723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT 30 UFA=T P He TR T I 99T § 3R 39 I W 40 UiA=Td &7 a4 ST Bl 8 | 9% D1 AN Hed W Alep T faod=1 gAY
Options :

1. % 50 gfc=rd

2. ¢ 100 Ufa=rd

3. % 200 gfa=rd

4. % 300 Ufa=rd

Question Number : 95 Question Id : 2752285724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An amount is to be divided between Ram, Tanish and Veer in the ratio 3 : 8 : 9 respectively. If Veer gets Rs. 1620 then, what is the share of Ram?
Options :

1. ¥ Rs. 540



2. % Rs. 1440
3. % Rs. 1280
4. % Rs. 980

Question Number : 95 Question Id : 2752285724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
?Wﬁmz M, AT SR AR P &1 32 8 : 9 P U & faHToTd fhar ST 8 | afe IR BT 1620 $UT fArerd €, O 9 &1 i &
?

Options :

1. ¥ 540 >UU¢
2. % 14404
3. % 1280%UC
4. % 980U

Question Number : 96 Question Id : 2752285725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio between girls and boys in a college is 3:2. If 25 percent of girls and 20 percent of boys are scholarship holders, then what percentage of
the total students do not get scholarship?

Options :

1. # 64 percent
2. % 77 percent
3. % 75 percent
4. % 80 percent

Question Number : 96 Question Id : 2752285725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS HeTlaaTad § asfodl 3R TS| & ard &I 3uTd 3:2 71 af¢ 25 Ufa<rd dsfehat 3R 20 UfA<d A8 SEIRI YRS &, )l $d HI &
forem ufaera & sEghRy 78t frerdt 82

Options :




1. % 64 Ufa=rd
2. ¢ 77 gfa=id
3. % 75 gfawrd
4. % 80 Ufa=rd

Question Number : 97 Question Id : 2752285726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three cats X, Y and Z move in such a way that when X takes 6 steps, Y takes 7 steps and Z takes 8 steps in the same time. 3 steps of X are equal
to 4 steps of Y and 5 steps of Z. What is the ratio of their speeds?

Options :
1. % 6:7:8
2. % 3:4:5
3. % 40:35:32
4. % 31:27:32

Question Number : 97 Question Id : 2752285726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o fafertal X, Y 3R 2 59 a8 A Ieidl § fob Uh 81 SR H X, 6 HaH dadl ©, Y, 7 HaH adl o AR Z, 8 SGH I o1 X b 3 HGH, Y &
4 HeH AR 2 F 5 HeHl & SRIER ¢ | P! T BT SUTd o1 82

Options :

1. # 6:7:8

2. % 3:4:5

3. % 40:35:32

4, % 31:27:32

Question Number : 98 Question Id : 2752285727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a horse race, there are four horses P, Q, R and S. The payoff at P is 2:5, at Q is 4:7, at R is 5:9 and at S is 6:11. Amit bets Rs. 3465 on a horse
which would fetch maximum amount. Luckily his horse has won. What is the total amount won by him?



Options :

1. ¥ Rs. 5445
2. % Rs. 4851
3. * Rs. 5390
4. ® Rs. 5355

Question Number : 98 Question Id : 2752285727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH OIS P H, IRAS P, Q, RARSTIP IR YTAM 2:58, QUR 4:7 8, RIX 5:9 8 IR S W 6:11 § | 31T A T °IS W 3465 ¥UT &1 G1d
T S HTIHTH R U R Gl § | MU T ITHT 91T Sitd 77| IUb GRT Sl T8 e 1A FT 82

Options :

1. ¥ 5445%UQ
2. % 4851 94U
3. % 5390 %4l
4, % 5355340

Question Number : 99 Question Id : 2752285728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Abhiraj took a loan of Rs. 100000 from a bank at the rate of 9.8 percent p.a. simple interest. He had to pay Rs. 68600 as interest. What is the time
period?

Options :

1. # 2 years
2. * 3 years
3. % 5years
4. ¥ 7 years

Question Number : 99 Question Id : 2752285728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SFERTST = FTYRUT TSl TR U I 9.8 U1 BT &= T Th §b I 100000 TUYT BT BT fordT| I &S & U H 68600 TUT S A | JHATI(Y



187

Options :
. %29y
2. % 399
3. % 599
4.4 799

Question Number : 100 Question Id : 2752285729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The difference between compound interest and simple interest on a certain sum of money at 4 percent per annum for 2 years is Rs. 80. What is
the principal if interest is compounded annually?

Options :

1. % Rs. 45000
2. % Rs. 50000
3. % Rs. 38000
4. % Rs.40000

Question Number : 100 Question Id : 2752285729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 9N & g Uf a9 4 Uia=rd R T Fid 49 A W Ishaia sare SR YRl &1oT & o9 &1 3faR 80 TUU § | IS =TS Uiday Tehgia
3T ST € o gored oam &2

Options :

1. % 45000 ¥UY

2. ¢ 50000 ¥UY

3. % 38000 3T

4. ® 40000 ¥UY

Arithmetic Ability2
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Question Number : 101 Question Id : 2752285730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A car financier claims to be lending money at simple interest, but he includes the interest every six months for calculating principal. If he is
charging an interest of 14 percent then, what is the effective rate of interest?

Options :

1. * 14 percent

2. % 14.25 percent
3. % 14.49 percent



4. * 15.19 percent

Question Number : 101 Question Id : 2752285730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T HR IS TR &S TR T IYR S BT 1a1 Il §, b1 a8 JaU= Pt 0T & ol &% I8 A H sTet A et g1 afe
I8 14 UTA<Id &1 SUTST TRIIAT &, < TSl b1 YT & 1 82

Options :

1. % 14 gfawd

2. % 1425 gfa=rd
3. ¢ 14.49 gfa=rd
4. % 15,19 gfaerd

Question Number : 102 Question Id : 2752285731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Arpit borrows some money at the rate of 4 percent p.a. for the first three years. He borrows the money at the rate of 8 percent p.a. for the next 4
years and at the rate of 12 percent p. a. for the next 5 years. If he pays a total simple interest of Rs. 8320 at the end of 12 years then, how much
money did he borrow?

Options :

1. ¥ Rs. 8000
2. % Rs. 8300
3. % Rs. 7320
4. % Rs. 6000

Question Number : 102 Question Id : 2752285731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T = ug < au & fore ufd af 4 Ufa=d &1 &R ¥ 56 09 IUR forw| 98 3iTal 4 auf & fore ufd av 8 Uf=id &1 9 U4 SYR ddl §
3R STS 5 af o forg U o 12 Ufa=Td &t &R ¥ SUR AT ¢ 1 A 98 12 981 & 3fd WR 8320 ¥UT HT Hl WIYRUI TS BT YA HRl §
o I fhae U SR ferwy

Options :




1. ¥ 8000 ¥UUY
2. % 8300%UU
3. % 7320%4UUQ
4. % 6000 >UQ

Question Number : 103 Question Id : 2752285732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Aditi had to walk a certain distance. She walked one-fourth distance at a speed of 3 Km/hr and the remaining distance at a speed of 6 Km/hr. If
the total time taken was 10 hours, then what was the total distance?

Options :

1. % 50 Kms
2. ¥ 48 Kms
3. # 40 Kms
4. % 36 Kms

Question Number : 103 Question Id : 2752285732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3ffefer 1 U FiErd gt g ag &3t A1 98 3 Kmv/hr 1 71T I TH-TIITE G It 3R [N GT 6 Knvhr BT 7110 9 Tt | IS 10 O BT FHd
TH o T T, o ol g3t T i

Options :

1. # 50 Kms

2. ¥ 48 Kms

3. % 40 Kms

4. % 36 Kms

Question Number : 104 Question Id : 2752285733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Abhishek rides a bicycle around a circular path of radius 100 m. The radius of the wheel of the bicycle is 150 cm. The bicycle comes to the
starting point for the first time in 1 hour 40 minutes. What is the number of revolutions of the wheel in 45 minutes?



Options :
1. ¥ 30
2. % 40
3. % 45
4. % 35

Question Number : 104 Question Id : 2752285733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 3 100 m & B & MR A7 R Iefed gdrar g | Isfed & uled &) 3T 150 cm 81 T1sfPd 1 e 40 fide # ugeh IR
I3 fofg TR STt g1 45 Toie o ufgd o aaax & ST & g2

Options :

1. ¢ 30

2. % 40

3. % 45

4. % 35

Question Number : 105 Question Id : 2752285734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man rides his bike 5 Km at an average speed of 30 Km/hr and travels a further 10 Km at an average speed of 20 Km/hr. What is the average
speed for the entire trip?

Options :

1. % 25.5 kmph
2. % 23 kmph
3. % 22.5 kmph
4. % 28.5 kmph

Question Number : 105 Question Id : 2752285734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH TGH 3T a2 30 Knv/hr BT 3RIA 7T I 5 Km TATAT 8 3R 20 Knv/hr B ST 1 I AT 3R 10 km &1 AT Sl 6 | T AT B



feTq afierd it o g2
Options :

1. # 25.5 kmph

2. % 23 kmph

3. % 22.5 kmph

4. % 28.5 kmph

Question Number : 106 Question Id : 2752285735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ashita can do a work in 'a' days and Suman can do the same work in 2a' days. To finish the work together they take 10 days. What is the value of
'al?

Options :
1. * 12
2. %10
3.¥ 15
4. % 16

Question Number : 106 Question Id : 2752285735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR o' & & T 1 HR Thll & 3R JHA 2a' feAl & I8 HTH IR Fabvcll & | Th 1Y HTH DI IRT B & 11T I 10 [GA TG | 'a' BT
T T2

Options :

1. % 12

2.% 10

3.¥ 15

4. % 16

Question Number : 107 Question Id : 2752285736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A and B can do a work in 120 hours, B and C in 150 hours and C and A in 100 hours. If A, B and C worked together then, in how much time
they will complete the work?

Options :

1. % 1 day and 16 hours

2. ¥ 3 days and 8 hours

3. # 5 days

4. # 4 days and 10 hours

Question Number : 107 Question Id : 2752285736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 3R B 120 Hcl & Ueh HTH B Ibhd g, B 3R C 150 Tl H 3R € 3R A 100 Tl H HTH B Ibd g1 G A, B 3R € TP 1Y HTH Hd 3,
dl 9 ford I00 & ST R 64

Options :

1. % 1T siR 164

2. ¢ 3feF iR g de

3. % 5faq

4. % 4fEF SR 106

Question Number : 108 Question Id : 2752285737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P and Q can do a work in 10 and 15 days respectively. They worked together for 2 days and then P left. In how many days Q can finish the
remaining work?

Options :

1. # 8 days
2. ¥ 10 days
3. % 12 days
4. % 15 days

Question Number : 108 Question Id : 2752285737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

P 3R Q HHI: 10 3R 15 f&i H U w1 R I&hd ] | 3514 2 el o w1y o1 foran ik fb p A Bis foun | w &m &1 @ fovaq feai o
TRT R Jobell 82

Options :

1. % gfeA

2. ¢ 10 A

3. % 1219

4. % 15fq

Question Number : 109 Question Id : 2752285738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8 men can do a piece of work in 8 days while 16 women can do a piece of work in 5 days. In how many days 4 men and 5 women together can
do this work?

Options :

1. # 10 days
2. # 14 days
3. ¥ 8 days
4. # 6 days

Question Number : 109 Question Id : 2752285738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8 H%s%ﬁ?ﬁﬁwqﬂJW{ma%wqﬁo 16 ATATY 5 a1 & T BRI B Tpail 2 | fbam fa=l 7 4 3neHt 3R 5 AfAnt fids: ag &1t
R )

Options :

1. % 10feT
2. % 14feq
3. ¢ gfaA
4. % ¢feq




Question Number : 110 Question Id : 2752285739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A cylindrical drainage pipe is 70 cm long. The inside and outside diameters are 20 cm and 32 cm respectively. What is the volume of the pipe?
Options :

1. % 34320 cu cm

2. % 13728 cucm

3. % 24240 cucm

4. % 28630 cu cm

Question Number : 110 Question Id : 2752285739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T JIDHR FHRIT T8 70 cm TS 81 3R 3R S8R BT AR SHHRT: 20 cm 3R 32 om § | UTSY BT T T 52
Options :

1. % 34320 cu cm

2. % 13728 cucm

3. % 24240 cu cm

4. % 28630 cu cm

Question Number : 111 Question Id : 2752285740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 512 identical small spheres are made out of a big sphere of diameter 32 cm, then what is the surface area of each small sphere?
Options :

1. # l4msqcm

2. ¥ 161 sqcm

3. % 10w sqcm

4. % 12msqcm

Question Number : 111 Question Id : 2752285740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

IS 32 cm SN & TP S M F 512 FHAM BIC M ST I 8, A1 Tdd BIe Tal BT YEIT &% d o1 82

Options :

1. ® 14m sq cm
2. % 16msqcm
3. ® 10m sq cm

4. % 12msqcm

Question Number : 112 Question Id : 2752285741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A right circular cone is 6 cm high and the radius is 12 cm. It is melted and recast into a sphere. What is the diameter of the sphere?
Options :

1. % 8 cm

2. % 10 cm

3. 12 cm

4. % 16 cm

Question Number : 112 Question Id : 2752285741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH TG WP 6 cm ST § 3R AT 12 em 71 34 FUE@AHR T M0 | iR 1 911 ST 8 | 7T &1 T &l 82
Options :

1. % 8 cm

2. % 10 cm

3. 12 cm

4. % 16 cm

Question Number : 113 Question Id : 2752285742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following pie-chart shows the details of 2000 employees of a company in various scales. How many employees are working on scale II1?



Details of employees

Options :
1. % 240
2. % 200
3.9 480
4. % 500

Question Number : 113 Question Id : 2752285742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafad ug-ard fafis TRl & T Hut & 2000 FHATRGT & fTaR0r B ST 8 1 TR 111 W P HHAR! HTH B I8 82




Options :
1. % 240
2. % 200
3. ¥ 480
4. % 500

Question Number : 114 Question Id : 2752285743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following pie chart shows the breakup in degrees the cost of construction of a building. The total cost of construction is Rs. 54000000. How
much percentage of total amount is spent on bricks?



Cost of construction of a building

Other
15°

Options :

1. % 90 percent
2. % 60 percent
3. % 15 percent
4. ¥ 25 percent

Question Number : 114 Question Id : 2752285743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad urE are T SARA & Ui &t T &1 f$3 & sde &1 gxifdT ¢ | FHfor &t $d anTd 54000000 ¥9T € | S¢f TR Hot MRT BT
fora wfo=rd @ g 52




Options :

1. % 90 gfard
2. % 60 gfa=rd
3. % 15 gfaerd
4. ¢ 25 gfagrd

Question Number : 115 Question Id : 2752285744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following table shows the sales, expenses and capital of a company from 2005 to 2008. In which year was the ratio of expenses and capital is
highest?

Years Sales Expenses Capital
2005 400 200 300
2006 600 200 400
2007 500 300 700
2008 J00 300 700




Options :
1. % 2005
2. % 2006
3. % 2007
4. % 2008

Question Number : 115 Question Id : 2752285744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafoRaa arferet 2005 J 2008 T fodl HU= Bt faeh!, 399 SR Yot &1 gx1fclt 51 fore T & o771 SiR Yol &7 SrguTd qas S1fiie U1

ad farmt E2p it
2005 400 200 300
2006 600 200 400
2007 500 300 700
2008 700 300 700

Options :

1. ¥ 2005

2. % 2006

3. % 2007

4. % 2008

Question Number : 116 Question Id : 2752285745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following table shows the population of India in various years. What is the percentage increase in population from 1991 to 2011?



i Population
{in crores)
1981 70
1991 81.4
2001 90.5
2011 110.6
Options :

1. # 24.69 percent
2. ¥ 35.87 percent
3. % 37.59 percent
4. % 40.12 percent

Question Number : 116 Question Id : 2752285745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad arfereT faftrd oot #f YR &t SFRe &1 g=id g1 1991 ¥ 2011 T S8 H Ufa=d gfa #m g2

a§ TAAEET
(FR1S F)

1981 70
1991 81.4
2001 90.5
2011 110.6

Options :

1. % 24.69 Uf=rd

2. ¢ 35.87 Ufa=rd

3. % 37.50 gfa=rd

4. % 40.12 gfard

Question Number : 117 Question Id : 2752285746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The following bar diagram shows the percentage of two communities- Community X and Community Y in a state during the years from 1991 to
1997. What was the ratio between community X and community Y in the year 1995?

— B Community X = Community Y
3 4
= 80
5 » = 70
E |
E = 53
9 60 - 55 .
E = 38 = =
a0 -
F 4 BE
El 2 20
=
g 1
o
1991 1992 1993 1994 1995 1396 1997
Year
Options :
1. # 75:76
2. % 25:23
3. % 5:17
4.4 9:11

Question Number : 117 Question Id : 2752285746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ® 75:76
2. % 25:23

3. % 5:17
4.9 9:11
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Question Number : 118 Question Id : 2752285747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following line graph shows the average temperature of a city in different months of a year. What is the decrease percentage of the
temperature from May to June?



a5 - 42
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2
5 | 3
0
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Meonth
Options :

1. ¥ (100/7) percent
2. % (500/21) percent
3. % (200/7) percent
4. % (300/17) percent

Question Number : 118 Question Id : 2752285747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRad are= U1 ue af & faftd AeiH! & <1eR & SN araee &1 SRidr 8 | 78 9 S ddb dT9qT &1 SHT Hia=rd 31 82
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Options :

1. ¥ (100/7) Ufc=rd
2. % (500/21) Ufa=rd
3. % (200/7) Ufa=rd
4. % (300/17) Ufa=rd

Question Number : 119 Question Id : 2752285748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following histogram shows the production of wheat from the year 2011-2012 to 2017-2018. By how much percent the production in 2016-
2017 increased compared to the production in 2011-2012?



Production of wheat (in tonnes)

2011-2012 2012-2013 2013-2014 2014-2015 2013-2016 2016-2017 2017-2018

Years

Options :

1. # 200 percent
2. # 128 percent
3. % 100 percent
4. % 80 percent

Question Number : 119 Question Id : 2752285748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad smadfes avf 20112012 § 2017-2018 T Tg & TG B &=MTdT 51 2011-2012 H TG B g1 H 2016-2017 H ITe H
fopa-1 ufa=a 3fS g2
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Options :

1. % 200 Ufa=rd
2. % 128 Ufaerd
3. ¢ 100 Ufa=rd
4. % g0 yfaerd

Question Number : 120 Question Id : 2752285749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The following line graph shows the income (in lakh rupees) of two water purifier manufacturing companies P and Q over 5 years. What would be
the ratio of total income of these 5 years of Company P to that of Company Q?



——Company P —=—Company Q

40 - 37
a5 4
30 4
25 1

20 4

15 4

Income (in lakhs)

i6 4

2001 2002 2003 2004 2005
Year

Options :
1.¥76:71
2. % 24:25
3.%2:3
4. % 1:1

Question Number : 120 Question Id : 2752285749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥76:71
2. % 24:25
3.%2:3
4. % 1:1
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Question Number : 121 Question Id : 2752285750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Living standards very widely from country to country, and (1)/ furthermore the change in living standards over time varies (2)/ widely from
country to country. (3)/ No Error (4)

Options :

1. ¥ Living standards very widely from country to country, and
2. % furthermore the change in living standards over time varies
3. % widely from country to country.

4. ¥ No Error

Question Number : 121 Question Id : 2752285750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.



Living standards very widely from country to country, and (1)/ furthermore the change in living standards over time varies (2)/ widely from
country to country. (3)/ No Error (4)

Options :

1. ¥ Living standards very widely from country to country, and
2. ® furthermore the change in living standards over time varies
3. # widely from country to country.

4. % No Error

Question Number : 122 Question Id : 2752285751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

A country's level of human capital is (1)/ difficult to be measure since it is created (2)/ at home, at school, and on the job. (3)/ No Error (4)
Options :

1. # A country's level of human capital is

2. ¥ difficult to be measure since it is created

3. % at home, at school, and on the job.

4. ® No Error

Question Number : 122 Question Id : 2752285751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

A country's level of human capital is (1)/ difficult to be measure since it is created (2)/ at home, at school, and on the job. (3)/ No Error (4)
Options :

1. # A country's level of human capital is

2. % (difficult to be measure since it is created

3. % at home, at school, and on the job.

4. # No Error

Question Number : 123 Question Id : 2752285752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Not having clear legal title to properly limits (1)/ its potential to be used as collateral to (2)/ secure loans, depriving many poor countries. (3)/ No
Error (4)

Options :

1. ¥ Not having clear legal title to properly limits
2. % its potential to be used as collateral to

3. % secure loans, depriving many poor countries.
4. ¥ No Error

Question Number : 123 Question Id : 2752285752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Not having clear legal title to properly limits (1)/ its potential to be used as collateral to (2)/ secure loans, depriving many poor countries. (3)/ No
Error (4)

Options :

1. ¥ Not having clear legal title to properly limits
2. # its potential to be used as collateral to

3. # secure loans, depriving many poor countries.
4. % No Error

Question Number : 124 Question Id : 2752285753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The servicing and government sectors, where output (1)/ per hour and productivity growth is low, last saw increases in their shares of the (2)/
economy and employment during the 1990s. (3)/ No Error (4)

Options :

1. ¥ The servicing and government sectors, where output



2. % per hour and productivity growth is low, last saw increases in their shares of the
3. % economy and employment during the 1990s.
4. ® No Error

Question Number : 124 Question Id : 2752285753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The servicing and government sectors, where output (1)/ per hour and productivity growth is low, last saw increases in their shares of the (2)/
economy and employment during the 1990s. (3)/ No Error (4)

Options :

1. ¢ The servicing and government sectors, where output

2. % per hour and productivity growth is low, last saw increases in their shares of the
3. #® economy and employment during the 1990s.

4. ® No Error

Question Number : 125 Question Id : 2752285754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

In line with the predictions of the Malthusian theory, a cross-country analysis (1)/ finds a significant positive affect of the technical level on
population density (2)/ and insignificant effect on income per significantly over the years. (3)/ No Error (4)

Options :

1. # In line with the predictions of the Malthusian theory, a cross-country analysis
2. ¥ finds a significant positive affect of the technical level on population density
3. % and insignificant effect on income per significantly over the years.

4. ® No Error

Question Number : 125 Question Id : 2752285754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

In line with the predictions of the Malthusian theory, a cross-country analysis (1)/ finds a significant positive affect of the technical level on
population density (2)/ and insignificant effect on income per significantly over the years. (3)/ No Error (4)

Options :

1. # In line with the predictions of the Malthusian theory, a cross-country analysis
2. ¥ finds a significant positive affect of the technical level on population density
3. * and insignificant effect on income per significantly over the years.

4. % No Error

Question Number : 126 Question Id : 2752285755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Detailed knowledge of fission and fusion weapons is (proliferated) to some degree in virtually every industrialized nation.
Options :

1. ¥ classified

2. % privileged

3. ¥ mocked

4. # No Correction Required

Question Number : 126 Question Id : 2752285755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Detailed knowledge of fission and fusion weapons is (proliferated) to some degree in virtually every industrialized nation.
Options :

1. ¥ classified

2. % privileged

3. % mocked



4. # No Correction Required

Question Number : 127 Question Id : 2752285756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Heating or electricity is one of the most (considered) costs in the operation of greenhouses across the globe, especially in colder climates.
Options :

1. ¥ considering

2. % consideration

3. ¥ considerable

4. # No Correction Required

Question Number : 127 Question Id : 2752285756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Heating or electricity is one of the most (considered) costs in the operation of greenhouses across the globe, especially in colder climates.
Options :

1. # considering

2. # consideration

3. % considerable

4. # No Correction Required

Question Number : 128 Question Id : 2752285757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.



Standpoint theory's most important concept is that an individual's own (speculates) are shaped by his or her social and political experiences.
Options :

1. ¥ perspectives

2. % perseverance

3. % perception

4. # No Correction Required

Question Number : 128 Question Id : 2752285757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Standpoint theory's most important concept is that an individual's own (speculates) are shaped by his or her social and political experiences.
Options :

1. ¥ perspectives

2. % perseverance

3. # perception

4. % No Correction Required

Question Number : 129 Question Id : 2752285758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The words "opacity" and "opaque" are often used as (sequential) terms for objects or media. However, there is also a specific, quantitative
definition of "opacity", used in astronomy, plasma physics, and other fields.

Options :

1. #* metaphorical
2. ¥ colloquial

3. % demographical

4. # No Correction Required



Question Number : 129 Question Id : 2752285758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The words "opacity" and "opaque" are often used as (sequential) terms for objects or media. However, there is also a specific, quantitative
definition of "opacity", used in astronomy, plasma physics, and other fields.

Options :

1. * metaphorical
2. % colloquial

3. # demographical

4. % No Correction Required

Question Number : 130 Question Id : 2752285759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

Human population control is the practice of the rate of growth of a human population.
Options :

1. ¥ stagnating

2. % destroying

3. ® preserving

4. ¥ altering

Question Number : 130 Question Id : 2752285759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

Human population control is the practice of the rate of growth of a human population.
Options :



1. #* stagnating
2. % destroying
3. # preserving

4. ¥ altering

Question Number : 131 Question Id : 2752285760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

The rich religious literature unwritten secular literature passed down from one generation to another in the form of chants.
Options :

1. % swarthy

2. ¥ sacerdotal

3. # notonectal

4. % atheistical

Question Number : 131 Question Id : 2752285760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

The rich religious literature unwritten secular literature passed down from one generation to another in the form of chants.
Options :

1. # swarthy

2. ¥ sacerdotal

3. # notonectal

4. % atheistical

Question Number : 132 Question Id : 2752285761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.



The Satavahanas are known for their of Hinduism and Buddhism, which resulted in the construction of Buddhist monuments from
Ellora to Amaravati.

Options :

1. # antagonism
2. # partitioning
3. % patronage

4. % obstruction

Question Number : 132 Question Id : 2752285761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

The Satavahanas are known for their of Hinduism and Buddhism, which resulted in the construction of Buddhist monuments from
Ellora to Amaravati.

Options :

1. ¥ antagonism
2. % partitioning
3. % patronage

4. % obstruction

Question Number : 133 Question Id : 2752285762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

The British East India Company, by the 18th century, had entered the Indian political and established its dominance over other
European powers.

Options :

1. ¥ theatre

2. # lineament
3. % inaction

4. # languor



Question Number : 133 Question Id : 2752285762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

The British East India Company, by the 18th century, had entered the Indian political and established its dominance over other
European powers.

Options :

1. ¥ theatre

2. # lineament
3. % inaction

4. # languor

Question Number : 134 Question Id : 2752285763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

The first is that the objective

P: to the home, on the justified premise

Q: that one's religion is a personal matter and is not
R: determined effort to restrict religious practices
S: will not be reached unless there is a

conducive to mass assertiveness.
Options :

1. ¥ SRQP

2. % QPSR

3. ¥ SRPQ

4. % QPRS



Question Number : 134 Question Id : 2752285763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

The first is that the objective

P: to the home, on the justified premise

Q: that one's religion is a personal matter and is not
R: determined effort to restrict religious practices
S: will not be reached unless there is a

conducive to mass assertiveness.
Options :

1. % SRQP

2. % QPSR

3. ¢ SRPQ

4. % QPRS

Question Number : 135 Question Id : 2752285764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Distillation may result

P: that increases the

Q: in essentially complete separation,
R: concentration of selected

S: or it may be a partial separation

components in the mixture.
Options :

1. ¥ RPQS

2. ¥ QSPR



3. % RPSQ
4. % QSRP

Question Number : 135 Question Id : 2752285764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Distillation may result

P: that increases the

Q: in essentially complete separation,
R: concentration of selected

S: or it may be a partial separation

components in the mixture.
Options :

1. # RPQS

2. ¥ QSPR

3. % RPSQ

4. % QSRP

Question Number : 136 Question Id : 2752285765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Some parts of a passage have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful passage.

Glassblowing is a glass-forming technique that involves inflating molten glass into a bubble with the aid of a blowpipe.

P. Mold-blowing is an alternative glassblowing method that came after the invention of free-blowing.

Q. A lampworker is also a glassblower but manipulates glass with the use of a torch on a smaller scale.

R. A person who blows glass is called a glassblower, glassmith, or gaffer.

S. It is a tube through which a stream of air or gas is forced into a flame to concentrate and increase its heating action.



There are two types of mold, namely single-piece molds and multi-piece molds, are frequently used to produce mold-blown vessels.
Options :

1. ¥ SRQP

2. % QPRS

3. % RPQS

4. % PRQS

Question Number : 136 Question Id : 2752285765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a passage have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful passage.

Glassblowing is a glass-forming technique that involves inflating molten glass into a bubble with the aid of a blowpipe.

P. Mold-blowing is an alternative glassblowing method that came after the invention of free-blowing.

Q. A lampworker is also a glassblower but manipulates glass with the use of a torch on a smaller scale.

R. A person who blows glass is called a glassblower, glassmith, or gaffer.

S. It is a tube through which a stream of air or gas is forced into a flame to concentrate and increase its heating action.

There are two types of mold, namely single-piece molds and multi-piece molds, are frequently used to produce mold-blown vessels.
Options :

1. ¥ SRQP

2. # QPRS

3. ¥ RPQS

4. % PRQS

Question Number : 137 Question Id : 2752285766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a passage have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful passage.

A supernova is a powerful and luminous stellar explosion.



P: A black hole as mentioned above is expected to form when very massive stars collapse at the end of their life cycle; it is region of spacetime
where gravity is so strong that nothing—no particles or even electromagnetic radiation such as light—can escape from it.

Q: This transient astronomical event occurs during the last evolutionary stages of a massive star or when a white dwarf is triggered into runaway
nuclear fusion.

R: The peak optical luminosity of a supernova can be comparable to that of an entire galaxy, before fading over several weeks or months.

S: The original form of the white dwarf, called the progenitor, either collapses to a neutron star or black hole, or it is completely destroyed.

The theory of general relativity predicts that a sufficiently compact mass can deform spacetime to form a black hole.
Options :

1. # RSPQ

2. % SPRQ

3. # PQRS

4. ¥ QSRP

Question Number : 137 Question Id : 2752285766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a passage have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful passage.

A supernova is a powerful and luminous stellar explosion.

P: A black hole as mentioned above is expected to form when very massive stars collapse at the end of their life cycle; it is region of spacetime
where gravity is so strong that nothing—no particles or even electromagnetic radiation such as light—can escape from it.

Q: This transient astronomical event occurs during the last evolutionary stages of a massive star or when a white dwarf is triggered into runaway
nuclear fusion.

R: The peak optical luminosity of a supernova can be comparable to that of an entire galaxy, before fading over several weeks or months.

S: The original form of the white dwarf, called the progenitor, either collapses to a neutron star or black hole, or it is completely destroyed.

The theory of general relativity predicts that a sufficiently compact mass can deform spacetime to form a black hole.
Options :

1. # RSPQ

2. % SPRQ

3. % PQRS

4. ¥ QSRP



Question Number : 138 Question Id : 2752285767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is the opposite meaning (ANTONYM) to the word given below.

VEHEMENT
Options :

1. % ARDENT
2. % FERVENT
3. % POTENT
4. ¥ GENTLE

Question Number : 138 Question Id : 2752285767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is the opposite meaning (ANTONYM) to the word given below.

VEHEMENT
Options :

1. % ARDENT
2. % FERVENT
3. % POTENT
4. ¥ GENTLE

Question Number : 139 Question Id : 2752285768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below.

REPUGNANT
Options :
1. # RECREANT



2. * AGREEABLE
3. ¥ ABOMINABLE
4. % LIKEABLE

Question Number : 139 Question Id : 2752285768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below.

REPUGNANT
Options :

1. ¥ RECREANT

2. % AGREEABLE
3. ¥ ABOMINABLE
4. % LIKEABLE

Question Number : 140 Question Id : 2752285769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below.

ACUMEN

Options :

1. ¥ IGNORANCE

2. % ELICITATION

3. ¥ MISINTERPRETATION
4. ¥ INGENUITY

Question Number : 140 Question Id : 2752285769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below.



ACUMEN
Options :
1. % IGNORANCE
2. % ELICITATION

3. ® MISINTERPRETATION

4. ¥ INGENUITY
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Question Number : 141 Question Id : 2752285770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below.

CHURLISH
Options :

1. % EXORBITANT
2. % SULLEN

3. ¥ REFINED

4. % RELIGIOUS

Question Number : 141 Question Id : 2752285770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below.

CHURLISH
Options :

1. % EXORBITANT
2. % SULLEN

3. # REFINED

4. % RELIGIOUS

Question Number : 142 Question Id : 2752285771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is the opposite meaning (ANTONYM) to the word given below.

TEMPESTUOUS
Options :
1. ¥ APATHETIC



2. ® IMPASSIONED
3. ¥ FURIOUS
4. % NEFARIOUS

Question Number : 142 Question Id : 2752285771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is the opposite meaning (ANTONYM) to the word given below.

TEMPESTUOUS
Options :

1. ¥ APATHETIC

2. % IMPASSIONED
3. # FURIOUS

4. % NEFARIOUS

Question Number : 143 Question Id : 2752285772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ BELVEDERE

2. % BEVELDERE

3. ¥ BEVELDER

4. % BELVEDER

Question Number : 143 Question Id : 2752285772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ BELVEDERE



2. #* BEVELDERE
3. ¥ BEVELDER
4. % BELVEDER

Question Number : 144 Question Id : 2752285773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ IGNONIMINY

2. # IGNOMINI

3. ¥ IGNOMINY

4. #* IGNONIMINI

Question Number : 144 Question Id : 2752285773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ IGNONIMINY

2. % IGNOMINI

3. ¥ IGNOMINY

4. % IGNONIMINI

Question Number : 145 Question Id : 2752285774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ NARCISISM

2. % NARCICISSM

3. ¥ NARCISSISM



4. % NARSICISM

Question Number : 145 Question Id : 2752285774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ NARCISISM

2. # NARCICISSM

3. % NARCISSISM

4. # NARSICISM

Question Number : 146 Question Id : 2752285775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ CONCENSUS

2. % CONSENCUS

3. ¥ CONSENSUS

4. % CONSENSES

Question Number : 146 Question Id : 2752285775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # CONCENSUS

2. % CONSENCUS

3. ¥ CONSENSUS

4. % CONSENSES



Question Number : 147 Question Id : 2752285776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # GIMICKEY

2. ¥ GIMMICKY

3. % GIMICKY

4. ¥ GIMMICKEY

Question Number : 147 Question Id : 2752285776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ GIMICKEY

2. ¥ GIMMICKY

3. % GIMICKY

4. % GIMMICKEY

Question Number : 148 Question Id : 2752285777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

“Head over heels”

Options :

1. #* In a precarious position.

2. % Wrongly understanding something.

3. % A stupid person or a person with low IQ.

4. ¥ Being completely in love.



Question Number : 148 Question Id : 2752285777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

“Head over heels”

Options :

1. # In a precarious position.

2. % Wrongly understanding something.

3. # A stupid person or a person with low I1Q.
4. ¥ Being completely in love.

Question Number : 149 Question Id : 2752285778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

“Back against the wall”

Options :

1. # Being in an intimate position.

2. % Be in a difficult situation from where escape is difficult.
3. % To be forced into doing something wrong.

4. ® To run away from the truth.

Question Number : 149 Question Id : 2752285778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

“Back against the wall”
Options :
1. # Being in an intimate position.

2. ¥ Be in a difficult situation from where escape is difficult.



3. % To be forced into doing something wrong.

4. # To run away from the truth.

Question Number : 150 Question Id : 2752285779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

“Stir up a hornets’ nest”

Options :

1. # Cook a difficult recipe.

2. # Tease a friend.

3. % Provoke trouble.

4. % Using foul or derogatory language.

Question Number : 150 Question Id : 2752285779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

“Stir up a hornets’ nest”

Options :

1. % Cook a difficult recipe.

2. ® Tease a friend.

3. ¥ Provoke trouble.

4. # Using foul or derogatory language.

Question Number : 151 Question Id : 2752285780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

“Bend over backwards”



Options :

1. ¥ To try to please or accommodate someone to an unusual degree.

2. % To take a step back to avoid the situation.
3. # Being very physically fit, active and agile.

4. ® Taking steps to simplify a situation or question.

Question Number : 151 Question Id : 2752285780 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

“Bend over backwards”
Options :

1. ¥ To try to please or accommodate someone to an unusual degree.

2. % To take a step back to avoid the situation.
3. % Being very physically fit, active and agile.

4. ® Taking steps to simplify a situation or question.

Question Number : 152 Question Id : 2752285781 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Select the most appropriate 'one word' for the expressions given below.

To impart or suggest in an artful or indirect way
Options :

1. # Conceal

2. ¥ Insinuate

3. # With draw

4. % Withhold

Question Number : 152 Question Id : 2752285781 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Select the most appropriate 'one word' for the expressions given below.

To impart or suggest in an artful or indirect way
Options :

1. % Conceal

2. % Insinuate

3. # With draw

4. % Withhold

Question Number : 153 Question Id : 2752285782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

Extending or existing since beyond the reach of memory, record, or tradition.
Options :

1. ¥ Immemorial

2. % Modern

3. ¥ Ambivalent

4. % Amenable

Question Number : 153 Question Id : 2752285782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

Extending or existing since beyond the reach of memory, record, or tradition.
Options :

1. ¥ Immemorial

2. # Modern

3. ¥ Ambivalent

4. ¥ Amenable



Question Number : 154 Question Id : 2752285783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

Something that cannot be denied or not open to question.
Options :

1. # Disputed

2. # Controvertible

3. % Incontrovertible

4. ¥ Variable

Question Number : 154 Question Id : 2752285783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

Something that cannot be denied or not open to question.
Options :

1. # Disputed

2. # Controvertible

3. % Incontrovertible

4. % Variable

Question Number : 155 Question Id : 2752285784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

A small portion or limited quantity
Options :

1. #* Entirety

2. # Munificent



3. # Onerous
4. ¥ Modicum

Question Number : 155 Question Id : 2752285784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

A small portion or limited quantity
Options :

1. #* Entirety

2. % Munificent

3. % Onerous

4. ¥ Modicum

Sub-Section Number : 2
Sub-Section Id : 275228362
Question Shuffling Allowed : Yes

Question Id : 2752285785 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (156 to 160)

Read the following information carefully and answer the given questions.

The origins of asceticism lie in man’s attempts to achieve various ultimate goals or ideals: development of the “whole” person, human creativity,
ideas, the “self,” or skills demanding technical proficiency. Among the ancient Greeks, athletes preparing for physical contests disciplined their
bodies by abstaining from various normal pleasures and by enduring difficult physical tests. As values other than those concerned with physical
proficiency were developed, the concept expressed by asceticism and its cognates was applied to other ideals—e.g., mental facility, moral
vitality, and spiritual ability.

Plato believed that it is necessary to suppress bodily desires so that the soul can be free to search for knowledge. The Stoics, among whom
asceticism was primarily a discipline to achieve control over the promptings of the emotions, upheld the dignity of human nature and the wise
man’s necessary imperturbability, which they believed would become possible through the suppression of the affective, or appetitive, part of man.
In all strictly ascetic movements, celibacy has been regarded as the first commandment. Celibates emerged among the earliest Christian
communities and came to occupy a prominent status. Among the earliest Mesopotamian Christian communities, only the celibates were accepted
as full members of the church, and in some religions only celibates have been permitted to be priests. Abstinence and fasting are by far the most
common of all ascetic practices. Personal hygiene also fell under condemnation among ascetics. Psychological forms of asceticism have also



been developed. A technique of pain-causing introspection was used by Buddhist ascetics in connection with their practices for meditation.

Sub questions

Question Number : 156 Question Id : 2752285786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When asceticism originated, it was used by ancient Greeks for:
Options :

1. # Connecting to god on a spiritual level.

2. ¥ Preparing for physical contests.

3. % Gaining political stability in the society.

4. # Improving relations with partners.

Question Number : 157 Question Id : 2752285787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the past the concept of asceticism have not been applied to:
Options :

1. # Mental facility.

2. # Moral vitality.

3. % Devotional agility.

4. # Spiritual ability.

Question Number : 158 Question Id : 2752285788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Stoic means a person who can endure pain or hardships without showing their feelings or complaining; Stoicism is a school of Hellenistic
philosophy which was founded by Zeno of Citium, in Athens; Which of the following was not taught to students in Stoicism?

Options :
1. ¥ To be acutely sensitive to emotional disturbance.
2. % Achieve control over the promptings of the emotions.

3. % Suppression of the affective, or appetitive, part of man.



4. ¥ Being imperturbable using asceticism.

Question Number : 159 Question Id : 2752285789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the meaning of the word 'celibate' as derived from the passage?
Options :

1. # A person who can stay without eating or drinking for long durations.

2. % A person who has a lot of respect amongst the people of his community.
3. % A person who does not believe in humanity.

4. ¥ A person who abstains from marriage and sexual relations.

Question Number : 160 Question Id : 2752285790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not an ascetic practice as given in the passage?
Options :

1. # Not maintaining personal hygiene and reduction in movement.

2. % Offering a sacrifice to the almighty to develop a connection.

3. % Abstinence and fasting.

4. # Pain causing introspection as part of meditation.

Question Id : 2752285785 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (156 to 160)

Read the following information carefully and answer the given questions.

The origins of asceticism lie in man’s attempts to achieve various ultimate goals or ideals: development of the “whole” person, human creativity,
ideas, the “self,” or skills demanding technical proficiency. Among the ancient Greeks, athletes preparing for physical contests disciplined their
bodies by abstaining from various normal pleasures and by enduring difficult physical tests. As values other than those concerned with physical
proficiency were developed, the concept expressed by asceticism and its cognates was applied to other ideals—e.g., mental facility, moral
vitality, and spiritual ability.

Plato believed that it is necessary to suppress bodily desires so that the soul can be free to search for knowledge. The Stoics, among whom
asceticism was primarily a discipline to achieve control over the promptings of the emotions, upheld the dignity of human nature and the wise



man’s necessary imperturbability, which they believed would become possible through the suppression of the affective, or appetitive, part of man.
In all strictly ascetic movements, celibacy has been regarded as the first commandment. Celibates emerged among the earliest Christian
communities and came to occupy a prominent status. Among the earliest Mesopotamian Christian communities, only the celibates were accepted
as full members of the church, and in some religions only celibates have been permitted to be priests. Abstinence and fasting are by far the most
common of all ascetic practices. Personal hygiene also fell under condemnation among ascetics. Psychological forms of asceticism have also
been developed. A technique of pain-causing introspection was used by Buddhist ascetics in connection with their practices for meditation.

Sub questions

Question Number : 156 Question Id : 2752285786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When asceticism originated, it was used by ancient Greeks for:
Options :

1. # Connecting to god on a spiritual level.

2. ¥ Preparing for physical contests.

3. % Gaining political stability in the society.

4. # Improving relations with partners.

Question Number : 157 Question Id : 2752285787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the past the concept of asceticism have not been applied to:
Options :

1. # Mental facility.

2. % Moral vitality.

3. % Devotional agility.

4. % Spiritual ability.

Question Number : 158 Question Id : 2752285788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Stoic means a person who can endure pain or hardships without showing their feelings or complaining; Stoicism is a school of Hellenistic
philosophy which was founded by Zeno of Citium, in Athens; Which of the following was not taught to students in Stoicism?



Options :

1. ¥ To be acutely sensitive to emotional disturbance.

2. % Achieve control over the promptings of the emotions.
3. # Suppression of the affective, or appetitive, part of man.

4. ® Being imperturbable using asceticism.

Question Number : 159 Question Id : 2752285789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the meaning of the word 'celibate' as derived from the passage?
Options :

1. #® A person who can stay without eating or drinking for long durations.

2. % A person who has a lot of respect amongst the people of his community.
3. # A person who does not believe in humanity.

4. ¥ A person who abstains from marriage and sexual relations.

Question Number : 160 Question Id : 2752285790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not an ascetic practice as given in the passage?
Options :

1. #® Not maintaining personal hygiene and reduction in movement.

2. ¥ Offering a sacrifice to the almighty to develop a connection.

3. # Abstinence and fasting.

4. ® Pain causing introspection as part of meditation.
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Question Number : 161 Question Id : 2752285791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufeRad Uy |, IR faeel 7 9, 39 fawed &1 99+ 3 Nl foba1 o Y arer It faswed gl
qH ORIl ST |

Options :

1. ® QdpIicid fopd
2. % TRumd fora
3. % AHYrd fobar
4. Ggod b



Question Number : 161 Question Id : 2752285791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fufeRad uy A, IR Al 7 @, 39 faded &1 997 B &Y fobar & Wi aren It fawed 8l
qH TR I ST

Options :

1. % gdep1eres fobd
2. % TRUMe fopa
3. % YT foean
4. Tgad foba

Question Number : 162 Question Id : 2752285792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
?ﬁ@au&rﬁ,mﬁw@fﬁﬁ,wﬁwmwﬁ@ﬁwﬁﬁmw%mﬁww%ﬁwm%ﬂawm"rﬁw
|

g (THTHT) e TRE ol 1T T
Options :

1. ¢ fqurg

2. ¥ JLATAIYD T

3. % fowpEidaiy® efeqg

4. % YYSIy® 3T

Question Number : 162 Question Id : 2752285792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
?ﬁ@au&rﬁ,mﬁwﬁﬁ@r,wﬁmwmqw B S DHIgDh T fAU T Wsg & YR AU 7MW a1’ o folu 31eu o 0 &1 gl fddhed
I

5 (TRTHAT) T1¢ SR Sl 3117 Tl
Options :




1. ¢ fqurd

2. % QUGS gy
3. % fquqifadius sy
4. % YYD T

Question Number : 163 Question Id : 2752285793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed vy 8, 9R fadwed! # 9, 39 fadbed &1 99+ &< Sl HIadTad 6371 ST g fddbed 71 5|
Options :

1. ® YaRlgc

2. G

3. % faepl

4, % GITRU

Question Number : 163 Question Id : 2752285793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad we o, TR fawedl # 9, 39 fadhed &1 997 B Sl HIgarad 91 &1 9g! [ddhed -Tg) 6|
Options :

1. # Ydilgc

2. ¢ GIHl

3. % faepl

4, % SITRU

Question Number : 164 Question Id : 2752285794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad vy 5, IR fawedl & 9, 39 fddhed &1 909 o Sl HIFH H AU T et & IR G-H & Ve ST 95! faded gl
(@IS TET 3T M|



Options :

1. % Sara®

2. % Aygaras
3. % UYdrdH

4. ¢ YYD

Question Number : 164 Question Id : 2752285794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad Uy o, aR fowedl & T, 39 faewed &1 999 &2 ol HIFH | [T T et & AR J4TH & W &1 Tl fadbed |

CIBREERIBI
Options :

1. % [AS/dra®

2. % (Aygara®
3. % UYdrdh

4. ¢ YIS

Question Number : 165 Question Id : 2752285795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fufafad vy A, IR Awedl § T, 39 fawey o1 Tad B3 o faiwur & He arel faswey gl |

R s TE g1 TR |
Options :

1. ¢ QoD

2. % A uRHT0 drad
3. % Y deamaa®

4, % UGS

Question Number : 165 Question Id : 2752285795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fufafad uy A, IR fowedl § T, 39 faswey o1 Tgd B3 o faiwur & He arel fawey gl |
R W TE g1 TR |

Options :

1. ¢ QoD

2. % 3ffAfYd ufAm a®
3. % fAfgq S=maEs

4. % TUATEAS

Question Number : 166 Question Id : 2752285796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad uy A, IR foweal 7 9, 39 faweu &1 97 &8 St ¢Sl Usg BT Ta! fdbea gl

Options :
1. % G
2. % St
3. gufl

4. % 3R

Question Number : 166 Question Id : 2752285796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad Uy & IR fobedl & T, 39 9 ey &1 999 B O SRS sk BT I f[db ey Bl
Options :

1. % Gk

2. % ol

3. ¢ il

4. % 3ER

Question Number : 167 Question Id : 2752285797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fAafeRad vy §, IR fasedl B 9, 39 fdded &1 9g- I ol faU U Weg & fo1T Tg! de=y 0 o faug &1 fawed 31|
gR&TaN

Options :

1. % TeM 3R JUTNT

2. % URA&T BT IUTNT

3. % TYe I U

4.« Gef o forg Iugitt

Question Number : 167 Question Id : 2752285797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeRad vy #, IR fasedl | 4, 39 fahed &1 =90 B Sl {3T 7T Yeg & fo1T At deqey JH™ & 998 &1 fdbed 51|
aRegarh

Options :

1. % e 3R IGIRT

2. % TRIE BT IUART

3. % TRAET W SUINT

4. ¢ Tg & forg Iuanh

Question Number : 168 Question Id : 2752285798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fufeiRad Uy #, IR Al 7 9, 39 fawed &1 999 B3 ol feT U Yeg BT aH U gl

Options :

1. % gIR

2. % WR




3. % gIC
4. ¢ &

Question Number : 168 Question Id : 2752285798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fufeRad Uy #, IR Al 7 9, 39 fawed &1 999 B3 ol feT U Ueg BT aH U gl

Options :

1. % IR
2. % WR
3. % gIe
4. fgar

Question Number : 169 Question Id : 2752285799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy &, IR fowddl 7 9, 39 fawey &1 9a 3 o) AT 17U Wee & vafgareh Wee &1 Ug! faswe 78t 3|
WYE

Options :
1. ® 9
2. % YdIl
3. ¥ A
4. % dUc

Question Number : 169 Question Id : 2752285799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofiad Uy & IR foedl ° T, 39 ey &1 Tg &1 O T U Wsg & TaiaT=! e o1 I8t [ddhey 781 g




W
Options :
1. % 8d
2. % YdIl
3. % Ald]
4, % dUC

Question Number : 170 Question Id : 2752285800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafad uy 7, IR e & 3, 39 9wy &1 T B oY {3 e T a9 33T fAped g |

JHH
Options :
1. % JHq
2.9 ™
3. % faug
4. % Q90T

Question Number : 170 Question Id : 2752285800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR eeal 7 9, 39 fahca &1 987 & ot fadiH Wsg &1 a9 331 faheu g |

REIRS
Options :
1. % JUq
2. ¥ ™
3. % fqug
4. % Q0T



Question Number : 171 Question Id : 2752285801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FofaRed Uy |, IR [ddeul 7 ¥, 39 I8! f[dmed &1 I9- B3 Sl dIaiRN & o7 U Xeg, &l [ddhed |
G & 3 W S arel

Options :

1. % ool
2. % TRIHA
3. ¢ TRTAURT
4. % UG

Question Number : 171 Question Id : 2752285801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofeRad Uy & IR fobedl & T, 39 I8! fahed o1 I91 B3 S I} & foll Ueh s T fdh ey B
QIR b 3 TR S aralt

Options :

1. % 3[gogdt
2. #% RIS
3. ¢ RIEFUN
4. % OIRd

Question Number : 172 Question Id : 2752285802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufafad vy 7, IR fawedl § T, 39 I8! fadw e o1 99+ 33 Ol faT 71U Reg & et 31 o1 IfId faweu gl

SRS
Options :

1. ¢ T




2. % AN
3. % W

4. % PHicArs

Question Number : 172 Question Id : 2752285802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad uy A, IR foweal 7 9, 39 I8! fased &1 7 &3 SN foTu 7T Wreg & Tg) 31 &1 IfId fapeu 81

SRS
Options :

1.« A
2. % AN
3. % Wd

4. % PHETS

Question Number : 173 Question Id : 2752285803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed Uy & IR fawedl § 9, 39 el fawed &1 997 & S Rad RIF & o Iuged et &1 el [dbed 5
od & o STEIRT ST A gl gl

Options :
1. % ©d
2.¥Pd
3. % P
4.% 4qd

Question Number : 173 Question Id : 2752285803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, aR fowedl & T, 39 98! fawed &1 99 &3 o Yad R & ot Iugad Wss &1 el fadhed g




SRid & o STTcYRT orT O et g
Options :
1. % B
2.V Fd
3. % &N
4. % qg

Question Number : 174 Question Id : 2752285804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy , TR fawedl § 9, 39 fawe &1 999 &3 o Y Vs &1 Ta! [dbed 7
Options :

1. % SFEAN

2. % TN

3. ¢ ENTN

4. % SPATY

Question Number : 174 Question Id : 2752285804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad vy o, TR fawet § 9, 39 fawey &1 7o &3 Sl Y e b1 Ta! fAwea 71
Options :

1. % 3(FTTANT

2. % SN

3. ¢ TN

4. % JFAEIY

Question Number : 175 Question Id : 2752285805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafeied us o, IR fadwedl O 9, 39 [dwed &1 7897 1 Al Y eg 1 ol [Ahed 5
Options :

1. ¢ 3f1dcA

2. % 3G

3. % 3{dieH

4. % 3fIdcd

Question Number : 175 Question Id : 2752285805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, TR fowedl § T, 39 fawed &1 999 &3 o Y sk &1 Ta! [dbed 7
Options :

1. ¢ 3f1ded

2. ® 3O

3. % 3M1dieA

4. % 3fTeed

Question Number : 176 Question Id : 2752285806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR eedl 7 9, 39 9w e o1 987 &% oY 3T 7T e & JHMIT Weg &1 fahey 81 B
u

Options :
1% Yyl
2. ¥ W8
3. % AR
4. % g

Question Number : 176 Question Id : 2752285806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fFofiafed uy §, IR el 7 9, 39 fowea &1 997 &% &Y feu 7T Weg & JHMIT Weg &1 faheu 781 B
H

Options :
L #
2. ¥ TS
3. % IR
4. % g

Question Number : 177 Question Id : 2752285807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad Uy o, aR fodwed! & 9, 39 98! fddwed &1 79 3 off 4T T Wea-H & 31 &1 ol fadhed |
fgu sk gla

Options :

1. % IR 3R G
2. % greft 3R YT
3. % 3G AR TG
4. gIft SR Ty,

Question Number : 177 Question Id : 2752285807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy H, IR fowedl 7 9, 39 8! f[dded &1 99 & off [qU U Xea-H & 3 &1 gl [ddhed gl |
fgu sk gla

Options :

1. % QIR 3R TG
2. % g1t 3R HFg
3. % I IR TG




4. ¢ gt iR @I

Question Number : 178 Question Id : 2752285808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed Uy &, IR et 7 9, 39 9 e &1 987 &Y oY Ted TWifell U arel faeed g |

Options :
1. % 3
2. % I9ld
3. ¢ R
4. % Siq

Question Number : 178 Question Id : 2752285808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafifead Uy 8, IR fasedl § O, 39 faded &1 999 &1 ol Ged WifelT ¥4 arell fddbed g

Options :
1. % 301
2. % Ivld
3. ¢ IR
4. % Siq

Question Number : 179 Question Id : 2752285809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofefad vy &, IR fawedl § §, 39 fadwen &1 Tg9 & S Ud dgae- ea &1 Ta 331 fddhey 7
Options :

1. % T

2. ¥ 35



3. % qd
4. % A&

Question Number : 179 Question Id : 2752285809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & aR fawed # 9, 39 fawed &1 984 & ot Yod dgao- eg BT Jad 3T [ddhed g
Options :

1. % It

Question Number : 180 Question Id : 2752285810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

?ﬁ@au&rﬁ,wﬁmﬁ@r,wﬁwmaﬂqﬁﬁﬁmﬁﬁuww%&aﬂwmwmﬂéﬂmmﬂaﬁ&@rﬁw
|

Options :

1. ¢ (&) He S Tad 61 8l ADhdT g |

2. % (3O) @ IR AT R ax |

3. % (H) 9gd ¥ T g |

4. % (M) STedl GhH TR SIS

Question Number : 180 Question Id : 2752285810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WU&ﬁ,WﬁWﬁ@r,wf&mwmwﬂ ® ol BT U AT T e & TR 3= T3 drad Fa-TH BT Tay 35T f[dded
|

Options :
1. ¥ (3DT) Hg Hl Tad 51 8l bl ¢




2. % (3OF) @ IR AT R ax |
3. % (H) 9gd Y& T § |
4. % (H) Sed] ghTH W SIS

General Hindi2
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Group Id : 275228202
Group Maximum Duration : 0
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Edit Attended Group? : No
Break time : 0
Group Marks : 20
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General Hindi2
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Number of Questions : 16
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Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 2752285811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fFafRed Uy |, IR fadwedl 7 ¥, 39 fddhed &1 999 &2 o1 fGT TN 9190 & &1d &1 ol [dwed ol

Y Bl g Yol S|
Options :

1. % YHTH JaaHDId
2. ¢ YT Yfd=ahTa
3. % g YidehTd
4. % 3T YT

Question Number : 181 Question Id : 2752285811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fufeRad Uy H, IR Al 7 ¥, 39 fdded &1 999 &3 o) feT TN 9190 & &1d &1 ol fdwed gl |

JMIG 6 g Gl oY |
Options :

1. ® YT TaHHDIA
2. ¢ GUIT Hfd=ehTd
3. % g YfdahTa
4. % A YJPTA

Question Number : 182 Question Id : 2752285812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, aR fowedl § 9, 39 fawey &1 999 &3 Sl foU T8 arag & fore gy & Y &1 9ad o1 fased ]
3R IR 81 SE aF &di &l ar=t e S|

Options :

1. ¢ Hbard
2. % Fgpd
3. % GHIGTY




4. % faemdf

Question Number : 182 Question Id : 2752285812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad vy o, TR fawet § 9, 39 faswey &1 7o &3 S fou T8 argy & e gf & e &1 9e o1 fdwed g |
3R TN 81 SE af Wdi &l ur-t i S|

Options :

1. ¢ Jhard
2. % e
3. % Furgd
4. % gy

Question Number : 183 Question Id : 2752285813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy d, IR el 7 9, 39 fawcu &1 987 &% ot feT 7T are & folw uel & Ne &1 ey 331 [ 3|

34 BT 33T I AT 3!
Options :

1. ® gdAaY®
2. % AgdEds
3. % gUidEae
4. ¢ IRHAAH

Question Number : 183 Question Id : 2752285813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy &, IR eedl 7 9, 39 fahcd &1 987 &% ot faU 7T 9/ & ol u&i & Ve 1 9a 331 faheu g |

S BT 3BT Ia- T B!




Options :

1. % gradiy®
2. % fgdEds
3. % gUidEae
4. ¢ IRHAAH

Question Number : 184 Question Id : 2752285814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue o, TR fawet § 9, 39 fawey &1 T L Sl Y 91 T Ja 3737 fadheu 3|
Options :

1. % g3 g% g B PRI g

2. % Y THA g I AT 81 g

3. ¢ U q%d 81 BI TR 81 g

4. % T AH BTG DI 3R e g

Question Number : 184 Question Id : 2752285814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed Uy & aR fawedl § 9, 39 fadmed &1 98 $1 off G a1 T JaY 3w [ddhed 5|
Options :

1. % g IHd g BT PRI

2. % T Uhd 5 U RN ] o

3. ¢ I3 A §IF BI MR 181 g

4. % Y Yol HT 81 I ML @)

Question Number : 185 Question Id : 2752285815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad uy §, IR el 7 9, 39 fawca &1 97 &% St 9gl a1 U &1 fabeu gl




SID! AT o 3R TSt e Srwht
Options :

1. ¢ g a1

2. % iy arey

3. % Yogdrad arag

4, % IR dIH

Question Number : 185 Question Id : 2752285815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foffed uy §, IR fiwedl 7 9, 39 faweu &1 997 &% St 9gl a1a U &1 fabeu gl
! aarRh o 3R gt fire st

Options :

1. ¢ Ggad I

2. % Ty arRy

3. % Jogarad diag
4. # IRA dH

Question Number : 186 Question Id : 2752285816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fufoRad Uy |, IR fadeul 7 ¥, 39 fdwed &1 999 &3 1l ol d1ad He &l f[ddbed gl
98 Ixd® @1 715 0, g g9 fia |

Options :

1. % fqyHaras a1
2. % A I

3. % fyy /g

4. ¢ GYId a1



Question Number : 186 Question Id : 2752285816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR el 7 9, 39 fawca &1 997 &% St 9gl a1 U &1 fabeu gl
a8 G @l 7T Y, T g et 75 |

Options :

1. % [qYUTarde drag
2. % IRA IR

3. % Oy arey

4. ¥ Igad a1

Question Number : 187 Question Id : 2752285817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad Uy 4, aR fawed & 4, 39 fdwed &1 99+ &3 Sl TR fag god aret o1 9al fdwed 71|
Options :

1. % 3T IR IY T A g1, 987 o ofd § 31U ufd &Y &g 3mar o, dvf vue aer fau 3

2. ¢ YR IY 07 A Far, I8 ot T & 3 ufd 1 S 3man o1, dH 3UT ofter faw

3. % SR IY 7 A w1, T84 St T H 31U Ufd B ST 37 o1 a+t 3uT arer few Qe

4. % IR IY UF A e, "84 S 9 H 30k Ufd B a4 1 o1, Jt 3Uu et fau do

Question Number : 187 Question Id : 2752285817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRed Uy o, IR fadedl # 9, 34 fddbed &1 98 &1 oif faxT g gord aTe’l o1 gl [dehed o1 |
Options :

1. % YR IY T g1, 989 S 9 § 30U Ufd B = 1 o1, at 3uu et fau 1

2. YR IY 0T A Fal, 'aga ot T & 3ues ufd 1 3= 3mar o1, aHt 3UT afer fau

3. % YR IY {1 A Fal, v ol 5 H 31 ufd o1 ST 3man ot 9+ $uT dter fag A

4. % YR IY T 3 FaT, g8 ol ofd H 3 ufd &Y &g 31mar o, d+ $uu ofer fau dor




Question Number : 188 Question Id : 2752285818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad Uy &, IR fawedl O 4, 39 fawed &1 99+ &< SN [aR1 foig god a1 &1 Aot fdded gl |
Options :

1. % "I G3HT?" ABR - G PR Bl

2. % I G3H1? ABT + G §IHR Bl

3. % 9 3T A - G IR Hal|

4. & T 32" AH T G GIHR Bl |

Question Number : 188 Question Id : 2752285818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy 4, aR fowed! & O, 39 fdeed &1 99+ o< Wil fav1 g god a1 &1 dal fadbed 5l
Options :

1. % g g3 AP A Y BIhR Hel

2. % I 312 ABY A G Gl Dl |

3. % T 3T H Y G BIHR gl

4. ¢ "Gd G3HT?" ABY - G BIPR Bl

Question Number : 189 Question Id : 2752285819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy O, aR fawedl & O, 39 fdewed &1 99+ &< Sl fav1 fag god a1 &1 dal fadheu gl
Options :

1. % 'O U1 4 ! A1fey, Sl fomr aRkyd o et 1 Aigd A g1

2. % O U 4 ol AT, SN fo11 uRked & e gy A Fa|

3. ¢ 'O U1 Y= 781 91T, SN fa1 ufer o fired 1" 9igq A Sl

4. % T U1 4 81 d1fe oil fom1 alkeyd & el | gd - &gl



Question Number : 189 Question Id : 2752285819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiRed us #, IR fasedl # 9, I fddhed &1 I B Sl favH g god a1 &1 el fdbed gl
Options :

1. % g U1 4= o! A1eE, SN fad1 ulyd o {1 Wigq A Hgh

2. % g U1 4 gl Ay, S fo1 uferd o B Wgd 3 ol

3.« 'O U o g1 a1eC, Sl for ufvsd & et 1 |igd A &8l

4. % T 4 o] A1feT oil fom1 ulyw & el | Hgd = gl

Question Number : 190 Question Id : 2752285820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed oy & aR fawedl § 9, 39 fadmed &1 7a &1 off U 7T YgTer &1 Tet o aran fawed g
Hal fAbTd & 3G T

Options :

1. % 3g- g gl

2. ¢ q§ $T JAMGT BR oAl
3. % A gHI

4. % iYH O g

Question Number : 190 Question Id : 2752285820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoiaa oy & TR fawe # ¥, 39 fadwen &1 7 &3 off U 7T erer o1 uet o aran fawey 2|
HaoT MBI & G Gl

Options :

1. % TG g B

2. ¢ q§ $S JAMT BR oAl
3. % P g




4. % AP U g

Question Number : 191 Question Id : 2752285821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & aR fawedl § 9, 39 fadmed &1 7a &1 off fU T8 gTer &1 Tet o arar fawey g |
ISl B8 g

Options :

1. ¢ &Had forar-ugl ®d g1

2. % g {3l &l 97d TR W BTl
3. % JYIfad BT

4, % T

Question Number : 191 Question Id : 2752285821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoiaa oy & o fawe # ¥, 39 fawed &1 7 &3 off U 7T Yerear &1 Tet o aran fawey g

BT OIS SIS

Options :

1. ¢ $Had [eral-Ug! HRd g1

2. % g fordlt &l 91d TR HRINT =]
3. % gyIfad BT

4. % TS

Question Number : 192 Question Id : 2752285822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed oy & IR fawedl § 9, 39 fadmed &1 7a &1 off U T gTer &1 Tet o arar fawey g

PHTA &b T H ST




Options :

1. % B A SPIdc M
2. * gfg YF g

3. % §gd @R DI AT
4. ¥ GG-9Y R e

Question Number : 192 Question Id : 2752285822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e uy & IR fawe # 9, 39 fawey &1 7 &% off fau 7T erer o1 98t o aran fawe g

HTd o T H ST
Options :

1. % P Y 3H1de M
2. % gfq Yg g

3. % §gd @R DI Al
4. ¢ G-UY R I

Question Number : 193 Question Id : 2752285823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR Reedl 7 9, 39 9w cd &1 987 &3 oY < 715 Aibifad &1 Tat 31 arett faweu g1
el 7ol I A el adl

Options :

1. % 3Id IS gl

2. % U B AT TR WISl

3. ® YRS gl

4. ¢ BRI DT HATS BT HH TGdl

Question Number : 193 Question Id : 2752285823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR Reedl 7 9, 39 fdwca &1 987 &3 oY < 715 Aibifad &1 Tat 31 arett faweu g1
el 7ol &I A el adl

Options :

1. % 3Id IS gl

2. % U BT R WISl

3. ® YRS gl

4. ¢ BRI DT HATS BT H TGl

Question Number : 194 Question Id : 2752285824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofiad uy & IR foeedl ° T, 39 ey &1 Ta &1 ot <1 71 dipifad &1 Tet 3 arar ey g
Ge & 90 I8 T

Options :

1. % GEI-ql BTH BT

2. % 3O Qi O SATeT AreT

3. ¢ I &I UG UThR 51 3he fa@ I
4. % GG Y B HAT

Question Number : 194 Question Id : 2752285824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR Reedl 7 9, 39 9w cd &1 987 &3 oY < 715 Albifad &1 Tat 31 arett fawbeu g1
G & T4 I8 TG

Options :

1. ® TQI-¢H HTY HRAT

2. % 3O AT ¥ SATaT T

3. QIR B E UThR Bl 3APbe fG@H T




4. % GRAME Y B AT

Question Number : 195 Question Id : 2752285825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofiad uy & IR foeed ° T, 39 ey &1 Ta &1 ot <1 71 dipifad &1 Tet 3 arar ey g
T 4T 9§ IS ST 51 ol ol

Options :

1. % fqufi ¥ gfg & 81 Bt
2. % TR 3! frwd & g gt 8
3. % JUAT JH I HIAT

4. ¢ WYIG T8I dgadm

Question Number : 195 Question Id : 2752285825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy &, IR Reeal 7 9, 39 fdwea &1 987 &3 St < 715 Aipifad &1 Tat 31 arett fawbeu g1
YT U Y TS ST -T6] o oIl

Options :

1. % faufi ¥ gfg o =81 Rl
2. % TRIT $I freAd g1 g1 et &
3. % JUAT T BT

4.« TGYIG g1 Igardl

Sub-Section Number : 2
Sub-Section Id : 275228365
Question Shuffling Allowed : Yes

Question Id : 2752285826 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (196 to 200)



faforiRad e &1 ufeu ok fou T e & IR S|

TS | TS J1¢ 3T IAR W 8| 39 <) T Age A 39 e A o aeg o1 uf=y fear, g are 3 I fifswr A v sR R saa &
HH H 318X fheaR AU, sfcd T AWl § O T saH | i SUST YA 36T T8 H 3718 a1 &1 3/al gorg dT 3feaR ¢1-aRM &1
T gITS 313 & fAIw SifarepauT| Siep It RE, S ¥R A1et faxaRt &1 srarity fmfor & forg seawmer o= formn mar 81 ) & Paa It
DI HTeG [HU ST Y TP O HH-UN & SATh| A SHS 71| SIF A UHid U1 1Y Ta] @, TAR ASHIBR R SIRGH B

TR 3IETS! R I8 § 3R I el P qaT H I8d 7, O 3 7 Il €| 80 33 R FT faedass Jard s H of 3111 3 &1 99T Uga
TR H ft T &1 Sraifll <t | 5R orTe g aorg fhreh - offiford <redieun ok giard) Fadt &t srcdl| fieel X aR Arad] &
TRIRAT AT @ ATl | Gech TS ST g | 99 &I ave faed | Hf T8 Idre &1 TqTaT g |

Sub questions

Question Number : 196 Question Id : 2752285827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3TEE & AR TG ¥ AR W g &1 7 37 g7
Options :

I % 96 IM KT

2. ¥ SIgUC I &

3. % S HAE R

4. % g1 ERT §

Question Number : 197 Question Id : 2752285828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3TEE & AR ISHIBR B dP ATURATE X84 62
Options :

1. ¢ UPid SO b1y 7 feam

2. % Sl SIFRESh 9 gl WY

3. # TWHR g9 1 §1Y

4, % U g 9 8l 91T

Question Number : 198 Question Id : 2752285829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Hag, 4R o W 7 1 T g3 Jaid! & T SR U
Options :

1. % UPpfd BT 9gan]

2. % Al BT TR

3. ¢ SIS REBRuT

4. % ERI BT AP

Question Number : 199 Question Id : 2752285830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ZTH 9 DI - T J1¢ BT UATgar] Usg T8l 82
Options :

1. % gig

2. % A

3. % fgrg

4. ¥ gad

Question Number : 200 Question Id : 2752285831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y 3G DI DIy IUY MNP
Options :

1. % QGBI

2. % YT AT

3. ¢ UPpid DI Ha

4. % 3G o gAY DI AT

Question Id : 2752285826 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (196 to 200)



faforiRad e &1 ufeu ok fou T e & IR S|

TS | TS J1¢ 3T IAR W 8| 39 <) T Age A 39 e A o aeg o1 uf=y fear, g are 3 I fifswr A v sR R saa &
HH H 318X fheaR AU, sfcd T AWl § O T saH | i SUST YA 36T T8 H 3718 a1 &1 3/al gorg dT 3feaR ¢1-aRM &1
T gITS 313 & fAIw SifarepauT| Siep It RE, S ¥R A1et faxaRt &1 srarity fmfor & forg seawmer o= formn mar 81 ) & Paa It
DI HTeG [HU ST Y TP O HH-UN & SATh| A SHS 71| SIF A UHid U1 1Y Ta] @, TAR ASHIBR R SIRGH B

TR 3IETS! R I8 § 3R I el P qaT H I8d 7, O 3 7 Il €| 80 33 R FT faedass Jard s H of 3111 3 &1 99T Uga
TR H ft T &1 Sraifll <t | 5R orTe g aorg fhreh - offiford <redieun ok giard) Fadt &t srcdl| fieel X aR Arad] &
TRIRAT AT @ ATl | Gech TS ST g | 99 &I ave faed | Hf T8 Idre &1 TqTaT g |

Sub questions

Question Number : 196 Question Id : 2752285827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3TEE & AR TG ¥ AR W g &1 7 37 g7
Options :

I % 96 IM KT

2. ¥ SIgUC I &

3. % S HAE R

4. % g1 ERT §

Question Number : 197 Question Id : 2752285828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3TEE & AR ISHIBR B dP ATURATE X84 62
Options :

1. ¢ UPid SO b1y 7 feam

2. % Sl SIFRESh 9 gl WY

3. # TWHR g9 1 §1Y

4, % U g 9 8l 91T

Question Number : 198 Question Id : 2752285829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Hag, 4R o W 7 1 T g3 Jaid! & T SR U
Options :

1. % Uopld BT Hgan]

2. % Al BT TR

3. ¢ ST gl

4. % ERI BT AP

Question Number : 199 Question Id : 2752285830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ZTH 9 DI - T J1¢ BT UATgar] Usg T8l 82
Options :

1. % gig

2. % I

3. % fgrg

4. gad

Question Number : 200 Question Id : 2752285831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y TG B Dl I M
Options :

1. % QEIB0l

2. % YT AT

3. ¥ Udhid BT hex

4. % 3G o gAY DI AT




